PLANT KINGDOM- MOST IMPORTANT QUESTIONS

a) 6
b) 7
¢ 5
d) 4

Explanation: Based on whether plants have a well-
differentiated body and the presence or absence of
specialized tissues for transport, and the ability to
bear seeds Kingdom Plantae (Plant Kingdom) is can
be classified into 5 different groups.

Thallophyta: The plant body is not differentiated
from roots, stems, and leaves. They are commonly
called algae.

Bryophyta: These are small terrestrial plants. They
show differentiation in the body design, with stem,
leaf-like structures, and root-like structures.
Pteridophyta: The plant body is differentiated into
roots, stems, and leaves, apart from having a
specialized tissue for conduction.

Gymnosperms: Gymnosperms are plants with
naked seeds.

Angiosperms: Angiosperms are seed-bearing
plants. Seeds develop inside tissues that get
modified to form the fruit of the plant.

Plants
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seed Spermatophytes

Pteridophytes Bear naked Bear seeds
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|

Gymnosperms Angiosperms

Ha\(%seeds Have seeds
with two with one
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! !

Dicots Monocots

2. The nutritional mode of plants in kingdom
plantae is
uTey ST B aYeft T dwor goret @

a) Photosynthetic/ H9v®

b) Ingestive/ fTTetaT

c) Autotrophic/ Iadmdt

d) Absorptive/ IRGAaTAT
Explanation: The main mode of nutrition in plants is
the autotrophic mode of nutrition. Plants have
chlorophyll in their leaves which helps them to
produce their own food.
Wert 7 TIVOT T TR FHHT TITUT BT TAIST adapT 8| det
&1 ufed! & SR EidT 8 ST I8 STUAT WisH W8
# AeE AT Bl

3. The cell wall of kingdom Plantae organisms is
made up of
TTey ST Sitdl Y SifeT fafa & & gt &

a) Chitin/ @rsfea

b) Cellulose/ Tegerst

c) Polysaccharides/ fdidanTes

d) Lipids/ fafds
Explanation: The cell wall is the outermost
covering/membrane of organisms belonging to the
kingdom plantae.
Their cell wall is made up of cellulose which is a
form of sugar.
HIABIATT fhTTeH Widh & Feferd Sfial &7 Fad et
HTeRUT/ et 8
ST HIAPT FARY Acgelier A & gielt & St <A o7 v
T2

Plant Cell Wall - — Middle
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Figure 1

4. Which division among plants has the simplest
organism?

Tt & i fra Ry § aed W sia 82
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Pteridophyta / ¢REIwrser
Thallophyta / d@wrger
Bryophyta / sTaGTgeT
Gymnosperms / fagas

a
b
d
d

Py
_ ~ = —

5. Which of the following divisions of plants does
NOT have a well-differentiated body?
dtet & FgfaRed & & g foum § gfaafea ek 7€ &2

a) Bryophyta // sToYGTSeT

b) Thallophyta / dcfwrger

c) Gymnosperms / fagas

d) Pteridophyta/ ¢fgIprger
Explanation: Thallophyta- The plants in this group
are commonly called algae. The form and size of
algae are highly variable. The algae reproduce by
vegetative, asexual, and sexual methods.
Vegetative reproduction is by fragmentation. Each
fragment develops into a thallus.
SeiThTgeT- 30 THE & Ulel &Y AR W AdaTel HaT ST
1 ot &7 F7 3R PR srafde gRadefier g 21
AaTel I, Sreifie 3R A fafeat grr vome ava
gl e ol fas gRT giaT 8| U sl Ua
ot # Apfad grer 1

6. Lichen is related to division.

(a) Bryophyta / STaTwrser

(b) Thallophyta / &afTwrger

(c) Pteridophyta / ¢RETwrser

(d) Exudative BG / taagsfea sish

Explanation: Lichen Plant belongs to Thallophyta
Division. Thallophyta is a division of the plant
kingdom including primitive forms of plant life
showing a simple plant body. Including unicellular
to large algae, fungi, lichens. The first ten phyla are
referred to as thallophytes. They are simple plants
without roots stems or leaves.

ATEHA wite deprger fEdiem & siatfa smar &1 dewrger
Tt & AT &1 U e & o @ F e &
e 0 et & St U ATURUT GHY o7 R e 2
THHIADIT T AR 3 AT, Hab, AT Aied | T
T BT B AATHSeH FaT T 81 T A Ui 8 ot
TS =T AT ufvrt T et 8

7. Which of the following is an example of a green
algae?
Rafafa & & $ &¥ AaTeT BT IaTer 87?

a) Laminaria / @rfa=TRAT

b) Sargassum / TRTEH

c) Chlamydomonas / THTESIHNTT

d) Fucus /G
Explanation: Chlamydomonas is found in stagnant
water and on damp soil as well as freshwater,
seawater, and even in snow.
FTSS AT R Ut ok 7w Mgt & Arg-ary #ig ur,
T ST 3R et ab fo gt & oft urar Srar &1
Laminaria - Brown Algae
Sargassum - Brown Algae
Chlamydomonas - Green Algae
Fucus - Brown Algae

8. The non-green heterotrophic plants of plant
kingdom are-
TTaU SATd & TR-8Y fawaaidt ote 8-

a) Algae/ garet

b) Fungi/ ®a&

c) Mosses/ Al

d) Ferns/ &=t
Explanation: Fungi are called the non-green
heterotrophic plants of the plant kingdom. This
Kingdom includes smuts, rusts, yeasts, molds,
mushrooms, etc. A fungus is any member of the
group of eukaryotic organisms that includes
microorganisms such as yeasts and molds, as well
as the more familiar mushrooms. A characteristic
that places fungi in a different kingdom from
plants, bacteria, and some protists is chitin in their
cell walls. Fungi, like animals, are heterotrophs;
they acquire their food by absorbing dissolved
molecules, typically by secreting digestive enzymes
into their environment. Fungi do not
photosynthesize.
FAS P UTGT ST & TR-8X FAvwaet e gt S 1 3
AT § Wew, e, dRe, Hies, AIFA anfe enfie &)
U Sad gHhRalfes Sfial & THg &7 H1g oY T ¢ S
gersia o 76 die 3k Aies, a1y € aifas uifaa
TE M § v fILwar St Fas o1 diell, Sadfar
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3R o M A 3renT AHTT T Rad) B, 98 & 3T
FHIAFT FAfy T FrefeT| Fam, IHRT & RE, fAwwarst
B §; 3 gfard Srupei & sraifa e SraET ie T Ut
A T, AR W 31U FTaTavl § Ure USTeHT & Tnfada
PP | AP THILT TATUT T R &

9. Chlorophyll containing autotrophic thallophytes
is called as-
S} AATBISEH Geb FARITChe bl HET I 8-

a) Fungi/ ®as

b) Bryophytes/ STAIhISCH

c) Algae/ gfaret

d) Lichens/ @Tsa
Explanation: are chlorophyll (green pigment)
containing thallophytes. They prepare their own
food and are thus autotrophic in their mode of
nutrition.
SIaTet FeiRITthet (837 q0Th) Bt & et deiichrse 1 €1
ST WIS T dUR I3 ¢ 3R 387 USR 370 UI§0T F
WIS 7 Wurd g gl

To do break

10. Fungi do release
down of organic material or their host.

HaP BlaD Ty AT IAP WU BT faeed A & fow
a) Chemicals/ &M@

b) Digestive enzymes/ UM USTsH

c) Glycogen/ TATSHISH

d) Rhizomes/ I8

Explanation: Fungi produce a variety of
exoenzymes to digest nutrients. These enzymes
are either released into the substrate or remain
bound to the outside of the fungal cell wall. Large
molecules are broken down into small molecules,
which are transported into the cell by a system of
protein carriers embedded in the cell membrane.
HdP UINP dcdl DI Ta & fov faffs ger &
URITUSITEH BT IS IR & | T TS a7 ot Fsige |
B3 fAU I € a1 & HIAPT HT AR & e I S8 @
E1 92 arugeit & wie srugeht # dYs far ST 8, S Sifder
TErecil # TRISS Ui aTge! i Ueh UUTTeAT gRT frenT #
o ST ST B

11. The characteristic feature of pteridophyte is

REwrEe & fAdwar §

a) Presence of a vascular system / U& ddg-!

JUITeT &t Iufafa

b) Absence of flowers/ el & argufEfd

c) Absence of fruits / Tall &I Uit

d) All of the above / IR & Tt
Explanation: Pteridophyta: Plants from this group
have well-developed roots, stem and leaves, and
separate tissues for conduction of food and water.
They do not bear flowers and fruits. They
reproduce with the help of spores formed along
the back or posterior surface of their leaves.
Examples - ferns like Nephrolepis, Marsilea, Pteris,
Adiantum, Equisetum, Selaginella, Lycopodium, etc.
REPIEeT: 3T T & Wyl # et e ¥ wfaa 573,
=T 3R gt gt 8, Sk WisH SR urit & et & faw
STTT-3TATT Sl 81 &1 9 ol 3R ol e T ea &1
St aftdl & 9 a1 dres & Tdg W o9 Simugsit 6 7ag
A TS Bl 8| ISTER0T - Wb faa, Arfiferar, 2R,
B |

12. Which one of the following groups is called
‘amphibians of plant kingdom'?
Fofafed # @ 5T Tyg 7 '9Tey SiTd & YR’ FaT
ST 87

a) Bryophytes/ sTOT®IECH

b) Thallophytes / d@®rEed

c) Pteridophytes / ¢REItrge

d) Gymnosperms / fagras
Explanation: Bryophytes include the various
mosses and liverworts. These are non-vascular
embryophytes, characterized by the presence of an
independent gametophyte and parasitic
sporophyte. Bryophytes commonly grow in moist,
shaded areas in hills. These are called amphibians
of the plant Kingdom because, these can live in
soil, but are dependent on water for sexual
reproduction. However, their sperms, known as
antherozoids, are flagellate and require water to
swim and reach the eqggs in order to fertilize them.
As aresult, they require water for sexual
reproduction. The plant body of bryophytes is
more differentiated than that of algae.
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STiTEeT # fft 1 ok Fraatext enfe £ 8 k-
Tt YUIhTEe &, ST U s THeTwree 3k wetidl
FiRIpTEe 6t ST St RowaT 2| SRitTEed TR |
gt § 99, Brifed &3 § 3T &1 58 Wi fFea &
IUTR FET 1T & Fifes A Y & 38 wopat &, Afdpey ol
T & fw urit R R & gTeites, 39 ey, T8
TRISIEET & FT B SHT SATAT 7, THTAE € & 3k 32
PR B & fore R ok afet Ae TgeR 3 forg arit ot
AT gl & TdSTa, 38 T To & fore ot &t
JTAHAT &l & | TTEHBIESCH HT UTey RR are i
T o 3rfde faufed grar 21

13. Which plant kingdom can survive both on land
and in the water?

B T UTey ST Y 3R Siet St & Siifad g gadr €2
(a) Tracheophyta/ ¢@HIwrEeT

(b) Pteridophyta/ 2ftSIprge

(c) Thallophyta/ wTger

(d) Bryophyta/ sTaTrger

Explanation: Bryophytes are multicellular, thalloid,
photosynthetic organisms devoid of vascular
tissues. They are known as the amphibians of the
plant kingdom because they live on soil, but use
water for their sexual reproduction. The
biflagellate antherozoids need water to reach the
female gamete. These plants survive in damp,
humid and shaded localities like the rocks near the
rivers.

ITHTECH TEHHAG, AATTS, USTT TATH ofig & fS7d
HaET Sdd T8l 81d 81 3¢ Ut & AU &S IHTR &
¥ 8 ST ST ® i 3 g W Ed €, A st T
TSI & AT Ut &1 3Tt aRa & | ATeT g a6 ugen
& faT areTiee TRISTSE B U & sraeadar gl 21
3 ot fait & T gt S A 9w, T ok it
AT § Shifad &

14. Plants that possess spores and embryo but lack
vascular tissues and seeds?

8 e ot ey ok Yo A1 # A 3 waeh
Faas 3R T T8 g 87

(a) Rhodophyta/ J81oprger

(b) Bryophyta/ sTaTreger

(c) Pteridophyta/ eREImrger

(d) Phaeophyta/ feratwrger

Explanation: Bryophytes are a proposed taxonomic
division that includes the liverworts, hornworts,
and mosses, which are non-vascular terrestrial
plants. They are typically small and prefer damp
surroundings, however, they can thrive in drier
ones as well. About 20,000 plant species make up
the bryophytes.

FTOIGTSCH U WRATAd SaraHIae f3dior & o
foiaRaicH, gialed 3k wre enfie €, S IR-Faet
ety At €1 3 aH dR W B 81 § ik T araravor
TS IR ¢, BTelifh, 3 @ & Y 79T T &1 e
20,000 Gt $t yorfaat sTarwrEe S 81

15. Plants reproducing by spores are grouped under
FSMUpst gRT S R ATt Wt & g & arffea faar
ST 2

(a) Bryophytes/ sTaTwIged

(b) Sporophytes/ WRIGEEH

(c) Cryptogams/ foreritwy

(d) Thallophytes/ dciTwTeeT

Cryptogams refer to the plants and fungi that do
not reproduce by seeds. Besides these, the
cryptogams are also known to reproduce by means
of spores. All spore producing plants including
mosses and ferns do not reproduce by seeds are
hence, known as cryptogams.

foreritw 3 qelt iR Pae @ daffid T & S ST gRT
TSI e} R €1 3% 3reTaT, fhenii| & dfismugsit &
TeTH ¥ G: 309 A & faw ot S Srar 81 a7 iR
T gied T Sioi deT a aTe N i gRT goi-7 8
A &, safa ety & 0 & T ST 21
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LIFE CYCLE OF THE FERN
Sperm
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MEIOSIS
3 /Y \ Spore % Q
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gametophyte

FERTILIZATION

Sporangium

/ Zygot
~— '

Mature sporophyte New sporophyte

16. Which of the following are first evolved plants
with vascular tissues?

Fafafed § & 3 dge Fao! ara ugat e atd 872
a) Pteridophytes/ ¢ReItrecH

b) Bryophytes/ STGTEeH

) Thallophytes/ dItreed

) Cryptograms/ ferroma

C
d

Explanation: Pteridophytes are the first ever
evolved plants with vascular tissue in them i.e.
they contain xylem and phloem. As they contain
vascular tissues, they are capable of growing
several meters tall.

R ETET TE Al 1 & S daght Fad g &
T 398 ITEeH SR T g 8| 9 I Hagdt Fas
A E, I 5 Hiew e 9 F gaw E

17. Which of the following statement is incorrect?
fafAfad & & S A1 HUH Teld 872

a) Pteridophytes follow cryptogamae i.e. reproduce
spores/ ¢RETHEEE A &1 UTer ava & T Smopsit
B G T R &

b) The main plant body in Pteridophytes is
Sporophyte/ eRETwEeH # G0 Ut &7 a7 WRIHEE &
c) Pteridophytes grow in dry and cold places like
mountains/ eRETwTse TeTST ST e 3R d8 Tt o
3T &

d) Pteridophytes have specialized vascular tissues/

REprEen § AT Tagdt Fds g &

Explanation: Pteridophytes follow cryptogamae i.e.
reproduce spores. The main plant body in
Pteridophytes is Sporophyte. Pteridophytes grow
in a damp shady area and sometimes even in sandy
soils. Pteridophytes have specialized vascular
tissues.

RETPTEcy e &7 3rgERuT aRd € T Seugsit o
T: 309 o & | eREThTsey # TRy T &7 AR
WRIGTEE 8| eREPBIse 90 BRTER &7 # 3tk Ffi-Fuft
Yot fgt # off I 81 SRSiwreey # Ay dagt Fas
Gakd

18. The cell wall of Spirogyra contains
TTRITTSRT $F ST AT A gar &

(a) Cellulose/ Tcfret

(b) Chitin/@TsfeT

(c) Lignin/ fafa=

(d) Suberin/ gafet

Explanation: Spirogyra is a filamentous green
colored alga of the Zygnematales order, so named
because of the helical or spiral structure of the
chloroplasts. Green plants, algae, and comycetes
all have cellulose as a structural component of
their major cell walls. Some bacteria emit it in order
to create biofilms. The most common organic
polymer on the planet is cellulose.

TTRITERT ST 7 $T T fharied & 11 T dare
2, TufoT sHeT 919 FERIERe Y 99eR a1 At TReET
& HRUT AT 7T &1 &X O, darer 3k ey aoft o
Tl 30T UHE BT AT & RaTTHs g & ¥
7 T 81 B dRIRaT 58 Iifhew s & faw 3afSia
IR 1 U8 R IS A SRS Tgeicd Veleilol 8
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19. The example of organisms of kingdom plantae
includes
UTET STA & Sfat & IareRor #F «nfie &
a) Ferns and mosses/ W 3R &1E
) Algae and fungi/ giaTet 31k Fa®
) Volvox and fungi/ dieaias 3R das
) Ferns and Volvox/ % 3R dieaiad

Plant ]l(ingdom

Q N O

|
Cryptlogams Phanerogams or gpcrmatophyta

| |
Thallophytes Bryophytes Pteridophytes Gymnosperms Angiosperms

(e.g. moss)  (e.g. fern) (e.g. pine, cycad)

I ) - i
Algae Fungi Dicotyledons Monocotyledons
(e.g. pondscum)  (e.g. moulds, (¢.g. pea, mango)+ (e.g. paddy, grass,

mushroom) (palm)

20. Which of the following plants is included in the
class Bryophyta?

FafaRad & & 39 a1 dtear srwEer aif # e 872
(a) Marchantia/ w<ifear

(b) Cladophora / GASIHRT

(c) Volvox/ areaiad

(d) Marsilea / wrfifaar

Explanation: Bryophyte It is the collective term for
mosses, hornworts, and liverworts. These are non-
vascular plants. They play a vital role in regulating
ecosystems because they provide an important

buffer system for other plants, which live
alongside and benefit from the water and nutrients
that bryophytes collect. Many bryophytes are
found in association with freshwater. Marchantia
genus belongs to Bryophyta. It is mainly confined
to temperate regions and is found to grow in
moist, cool, and shady places.

STHIhISe U8 A, EiHdicy 3R foavared & faw amfes
g B T IR-Hae Ut 81 3 uiffae & &t faffafaa
A T U Heaqul Yfrer R & aife 3 e diut &
AT Ue TEaqul s fed veH aRd €, St 9Ty # Ed €
3R art 3R UIve dal & rTfad gl 8 S Srrersed
UA ad &1 WS U &A1Y % STATHISed UTT AT 8
TifegT SV STaThTgeT ¥ Hefad €| 98 T §U A
Trefidtr &7t 9 € Hfta & ok 7, 33 ik srmEr
2T # ST Ur ST 21

(a) Fertilization / fAd==

(b) Fission / fa@s=

(c) Fragmentation/ fadsa

(d) Reproduction by ovule / TR gRT U
Explanation: The multicellular organism with simple

body design use fragmentation for reproduction. In
fragmentation, the parent body simply divides into
many parts.

Fragmentation occurs in Planaria.

Spirogyra reproduces by asexual reproduction
through fragmentation.

WA IR FESITe a1t IgpIfADI Sfa gar+ & farw
fadsT &1 IuahT axa &1 fadsT W, 7ot IR 59 &8 v #
TS &Y rrar 21

T # faRds gl 2

TTSRITERT fadsT & ATend A it Uola gRT UsiaT
AT Bl
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Nucleus .

Septum

Spiral
Chloroplast

Fragmentation in spirogyra

Fragmentation 1 B oaughter
‘\ e v Planaria

,)'} B Daughter
y ’ ‘ ' Planaria

\ ;
—({— l sk

Parent Planaria Planaria Fragments

22. Marsilea, Azolla and horse-tails are the
examples of..............

AT, Srelle 3R gRI-2e ... & IATERT &

a) Thallophyta /deIwreer

b) Bryophyta /sTatreer

c) Pteridophyta /eREIwreer

d) None of the above /SRIs # ¥ HIg &1
Explanation: Marsilea, Azolla and Horse-tail are
examples of Pteridophytes. Pteridophytes are
spore-producing vascular plants. Bryophytes are
called the amphibians of the Plant Kingdom and
they need water for fertilization.

AT, B, STate, 3R - CREIPeed &
ITER0T & | RS BTged ASIU[-IeTes FHag it &
FGTEEH & Wiic fHTeH &7 IYTR FHeT 1T & 3R 3%
8= & v uh & smawgear gt 8

i

b) Equisetum (Horse tail)

a) Lycopodium (club moss)

Figure 2.24: Pteridophytes

23.. The nutritional mode of plants in kingdom
plantae is
qTeg ST # e ST 9N Jutelt §

a) Photosynthetic/ I9¥®

b) Ingestive/ fATTaT

c) Autotrophic/ Iadmdt

d) Absorptive/ IRGAaTAT
The main mode of nutrition in plants is the
autotrophic mode of nutrition. Plants have
chlorophyll in their leaves which helps them to
produce their own food.
Treit & GIV0T BT o7 AT TNT &T Ut ader 2| oiet
&1 uferdl & FARIOe 81T 8 ST 3= 0T WIS W ST
EECCEGIR

AUTOTROPH vs HETROTROPH

— “i"iﬁ)f —

Grasshopper Frog

R ‘e oo
g =~ JT . \ay

Plants  Bacteria Animals Fungi

<

Most Bacteria

24. Which of the plant groups needs both land and
water to complete their life cycle?
Ttet & T THE S ST Sfiae 99 Q1 A & fore gfy
3R T T Y AT At 87

a) Tracheophyta/ ¢faTmrger

b) Pteridophyta/ eRewrger

c) Thallophyta/ dewreer

d) Bryophyta/ sTaI®rEer
Bryophytes are multicellular, thalloid,
photosynthetic organisms devoid of vascular
tissues. They are known as the amphibians of the
plant kingdom because they live on soil, but use
water for their sexual reproduction. The
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biflagellate antherozoids need water to reach the
female gamete. These plants survive in damp,
humid and shaded localities like the rocks near the
rivers.

STHETECH TEHIABT, AATTs, UaHTeT TAvS Sfia & o
Taglt Fae TE 81§l 3% vl & WTeT & IWTR F
¥ T ST ST § i 3 ) W 2E €, s e a
Toi & fAT It &7 ITahT R & | HIaT giie dd Ugae
& fAv sTsTRee TRITes & U 6 sraggdar gt 2
T e Afeat & ury agHl B wRe AW, 99 R sraifsd
AT # S & 8l

a) plants that don’t have well-differentiable
structure/ V& T fOadT TRaAT et e F O &
el g

b) plants that have large leaves/ fo= dtyt &t ufaaf
SET e §

c) plants that grow in colonies/ Si@IfAgT # 3T aret
qrer

d) plants that are filamentous/ T ST Y2 814 &
Plants are classified as Thallophyta and others
based on their well differentiable structure. Plants
whose structure can’t be differentiated are put

under the category of “Thallophyta”.

Tre BT 7T STeEt TRE I e TR & IR |
JeATprser 3R 30 & ¥4 # afiepd fovar mar g1 {5 dtert
& TR B SR TEY fraT ST At 3% derwTger St gof

26. Bryophytes are erect with hair like structures
called as

SIS STelt S TRaT3 & T WS 8a & o

a) Rhizoids/ Igsigsd

b) Stipe/ ¥&T8U

c) Seta/ Idr

d) Foot/ &R

Bryophytes are erect with hair like structures
called rhizoids. Rhizoids anchor bryophytes to the
soil and help in transfer of nutrients from soil to
the thallus. They are also called virtual roots of
bryophytes.

STUThTSEH STelT SIET RT3 & A1 @S 8a & fog
RTESTSSH PET ST 81 Teissy sTaThreed o gl & 5id
A & SR IS dcdl o g & I # [HiaRd o o
e aRA &1 58 STGIged & 3MWRAt 513 off ser Sirar 21

Archegonium Mature Sporophite

“3' y .
) (
Egg(1n) Q‘( ETZET?O %?

! \

. fﬂerm(ln)
The sperm swims into
the archegonium and
fertilizes the egg.

Rhizoids

The embryo grows into The spore grow
a slender stalk called a seta. into a thallus with
Meiosis produces spores. rhizoids.

Archegonia

Antheridia

SPerM ‘ :;._.
)
@ 5
Female

Gametophyte Gametophyte

Archegonial head

Gemma Cup
(Asexual \
reproduction) \
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27. Plants reproducing by spores are grouped under
dISATupsit gRT S S atel diet ot fAg & arffea fosar
ST 2

(a) Bryophytes/ sTaT®rsed

(b) Sporophytes/ WRIGEEH

(c) Cryptogams/ foreritwy

(d) Thallophytes/ diTwTeeT

Explanation: Cryptogams refer to the plants and
fungi that do not reproduce by seeds. Besides
these, the cryptogams are also known to
reproduce by means of spores. All spore producing
plants including mosses and ferns do not reproduce
by seeds are hence, known as cryptogams.

foreritn 3 gt 31k Taw @ defia a=dr & ST dieT gRT
TS T8l TR €1 §9 3TaTaT, freity &t fiamet &
Ty J G 309 a4 & A oy ST Srar 81 &8 ik
T afgd Tt Sie] teT R aTe Gt S gRT U e
A &, safaT ey & 0 & T ST 21

LIFE CYCLE OF THE FERN

Sperm

Sporangium

MEIOSIS

K /Y \ Spore

Q

Mature
gametophyte

FERTIL[ZATION

/ QZygote
~—E4

New sporophyte

Sporangium

Mature sporophyte

28. In which of the following types of reproduction,
adult microorganisms separate from parent body
and become a new individual?
fFofafaa & @ g veR & uoH+ 8, 9ot geasia qo
QR A ST &1 ST & 7R Teb 14T o feh & STl 87

(a) Fission / fazd@s

(b) Multiple fission / TaTa® fadsa

(c) Regeneration / 3™

(d) Budding / afsm

Budding - In this process, a new organism develops
from bud due to cell division in one particular area.

These buds develop into tiny individuals and, when
fully mature, detach from the parent body and
become new individuals.

Fission in bacteria is the process where a cell splits
into two daughter cells.

Regeneration is the natural process of replacing or
restoring damaged or missing cells, tissues, organs,
and even entire body parts to full function in plants
and animals.

Multiple fission is the process of asexual
reproduction in which instead of 2 daughter cells,
many daughter cells are produced from the parent
cell. In this, the nucleus undergoes repeated
division to produce a large number of nuclei.

A - 4 ufehaT # o fAW & # Fif T favree &
PRI GHel T Teh 7T Sfia AT g1 81 3 sfoat s
Sfral § faefaa gt € ok @ e @ uRues g9 w,

T R F 31T &1 ATt & 3R 0 sufes 59 It 8
Sharupsit # fixdsT a5 ufdar & s v SifdeT & wafy
Fifreprat # v g ST 21
ottt 3R SHaRt # quf a1 ava & fovw erfav ar
TS S (BTSN, Fab!, 3 3R TeT 7@ & R R &
3Tt Y gt a1 gRffd & & urdfaes uftsar 2
SgfaRdsT Il Ui &Y ufthar & o 2 Tafa
FIABTSN & I W TS HIABT A 3P Hadd DIADIE
IH il 8| $TH AN T3 WA § NS I79d T F
T IR-TR RAUTST J ToRAT 21

Budding

Parent Bud Bud Bud Bud

Hydra arises grows develops detaches to
mouth and form new
tentacles Hydra

29. The plant group that posses the largest ovule,
largest gametes, and largest tree.
3T 34 g &l

a) Angiosperms/ JTgasteit

b) Gymnosperms/ @
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c) Pteridophytes/ ¢fREIwrge

d) Bryophytes/ STaTwEeH
Cycas tree produces the largest known ovule.
Sequoia sempervirens is the largest known tree in
the world.
Largest gamete is produced by Cycas. Both Cycas
and Sequoia are gymnosperms.
HTEHH BT U IO 937 AT Siofis dar T 2
Sequoia sempervirens gfaT &T TEY I8T ATd US 2|
T I3T g A6 gRT Affa €T 81 asad 3k
Reprear T S £

Cveas Cedrus

30. The covering outside an ovule in Gymnosperms
iscalledas __________

S A fias FaTR S RO H __________ HET
ST &

a) Integument/ fareei

b) Air sac/ arg &eft

c) Embryo sac/ yor et

d) Carpel/ &4

The covering outside an ovule in Gymnosperms is
called integument. It has a tiny hole at one end that
allows germination of pollen grains that are carried
to female gametophyte through air and water.
SR & 77 & qTeR & TR F SR Fgd &
TS TP BR W T BIET AT BT ET & ST WATGHUT &
STGROT FT 3rgHfd AT & ST g4 3R U & HTenw ¥ AIer
TACIpIEe aF & ST AT 2

GYMNOSPERM ANGIOSPERM

Miclvpyh\
Integument

)
f )

31. Which of the following group produces naked

seeds?

fFofafaa & @ 19 ar agg v 9 der Rar 82

(a) Thallophyta / S@wTger

(b) Bryophyta / sTaYtGrgeT

(c) Angiosperm/ Tforgeas

(d) Gymnosperm/ forgas

Gymnosperms: Gymnosperms are seed-producing
plants. They do not produce flowers or fruits and
hence, they do not have covered seeds. The seeds
that are not covered and can be easily seen with a
naked eye are known as naked seeds. Their leaves
are modified into spines.

For example - Pines.

gadtsh: fawed i Sates N & 3 G a1 e
€ 3 § ok s9faiY, 39 U o U ST T8 B 81 S
T & & g1 3R o8 1w 31l & S & v o
AT 8, T oI5 HEcTd & | §eh! Uferal pict # FUT=IRed &
STt &

3eTER0T & fav - argy)|
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Gymnosperm Seeds

Cone scale

Immature
seeds

Cone scale

Ripened
seeds

Tomato Fruit

Seeds

Fruit Apple

Chinese lantern

32. Double fertilization is the characteristic of
arer Fvee &Y fadiwar &

a) Algae/ garet

b) Gymnosperms/ fawread

c) Fungi/ ®as

d) Angiosperms/ 3Tgasisit
Double fertilization is a complex fertilization
mechanism of flowering plants. This process
involves the joining of a female gametophyte with
two male gametes.
Angiosperm the flowering plants show the unique
characteristic of fertilization referred to as double

fertilization. Double fertilisation is a process unique

to angiosperms.

Double fertilization is a complex fertilization
mechanism of flowering plants. This process
involves the joining of a female gametophyte with
two male gametes.

In this process, one sperm nucleus fuses with the
egg nucleus to form an embryo and other fuses
with polar nuclei to form endosperm.

ERT AT Bod aTat Uledl &7 Ueb SAfeet s a1 81 5
ufgsaT o &Y TR TS & Y U AIST TACTHISE BT JSAT
e 21

TSR B T T S &t 3rgdY fadrwar ferara &
o Srgk v & vu & deftfa fvar ST 81 59t fAs=s
SR & faw ve St ufesar 21

EERT T ot ATt et &7 U Sifee v @7 €159
ufgsaT o &Y TR TS & Y U AIST THCTHISE BT JSAT
MM 21

T UfhTT H, U 1] Sed 373 & A1iUe & 917 fHcaw
e YT SHTAT & 3R SR ¢y 71 & a1y feax
YOI 7T &

Endosperm
(3n)

Antipodals

- £ “Zygote
— = (@n)

Release of sperm cells S

Double fertilization

33 The inner cell wall in spirogyra is made up of

a) Pectin/ 9fdeT

b) Cellulose/ Tcf@rat

c) Chitin/ fafes

d) Lipids/ fafos

Spirogyra contains two cellular layers. The outer
cellular layer is made of Pectin. The inner cellular in
spirogyra is made up of Cellulose. This double
cellular layered structure helps them to withstand
osmotic pressure.

Spirogyra ¥ &I HIRAS TR gl & | STgT SIRADIT WRel
Ofee 61 &+ gIelT 81 TWIERTRT H1 Wil SIS
HIFAST VGerst & a1 E1dT &1 T ST Vfok TR
TRIAT 3% IS aTa T ATHAT I H Heg et B

Mucilage

Cell wall
Cell membrane

Spirogyra

Peripheral cytoplasm

s 7 PR A
@ "‘ 0 :&au",'-" .1

Strand of cytoplasm:

: 100 um
crossing vacuole

Tonoplast
Peripheral chloroplast in Pyrenoid

peripheral cytoplasm
Single large vacuole

Nucleus suspended in
centre of cell
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34. Which among the following is not an asexual
mode in bryophytes?
fufafad & & 9 siwees # sefis faur 78l 872

a) Budding/ saifed

b) Fragmentation/ faxds=

c) Gemmae/ T+t

d) Sporophyte formation/ ¥RIhrse fAwfor
In fragmentation, leaves/ stems fall off accidently
and grow to form new individuals. Budding is a
process in which an outgrowth develops and splits
from the parent thallus to produce new individual.
Thallus has structures called gemmae cups that
contain gemmae which in turn reproduce to form
new individual. Sporophyte develops from a
developed embryo and results in the formation of
spores. Therefore, sporophyte formation is a
sexual process that involves two gametes.
faxds #, uferal/aa sreTd ik ST € $ik =¢ safehal &
U # faesfad g €1 o e Wit ufehar & s v
92 R A & ok wrar-RaT e ¥ 77 o o1
3eqTe A & e fawrfSra gt 81 dora & St & A
TR Bl & o Sl €1ell @ S Seet # ¢ oafeh s &
fore grvaatfea avdt 81 TWRIvTEe Ua fasfaa yor &
i 8T & 3R sHS IRUTRRaFT diSmy] d &
AT, WRIKTEE e T 11 ufear & o < gross
et g 2

—— Archegoniophore Antheridiophore

Gemma cup Gemma cup

35. 278. Phyllotaxy is
BIgICTHT §
a) Folding leaf in the bud /et # @8 U=l
b) Arrangement of leaves on the stem /a9 ™
gfoal &Y sgawar

c) Both (1) and (2)

d) None /@ oY &t
Phyllotaxis is the phenomenon of mode of
arrangement of leaves on the stem. It is of four
types, namely alternate, spiral, opposite and
whorled. In alternate phyllotaxy, a single leaf
arises from the node. This type of phyllotaxy is
seen in sunflower, mustard.
ISR a9 IR uftal &) suawer &t fger i g g
g IR USR &I g1 &, AT Tahier, Tftfer, fauda sk
HATIER | ddhicud Wigalead |, 71 I U &1 o Rdhetar
1 TR, TRAT 7 3 TSR ST rscleandt St ATl B
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Alternate Opposite
Polyalthia  Superposed Guava

Figure 3.14: Phyllotaxy

Opposite Decussate Ternate Whorled

Calotropis Nerium Allamanda

36. Flowering plants are grouped under-
qufiy et o arfige fear ST -

a) Cryptogames/ foreeri=a

b) Phanerogames/ TR

c) Bryophytes/ STaTwEeH

d) Pteridophytes/ ¢REIwrge
Phanerogams, also known as spermatophytes,
refer to all seed plants. Gymnosperms are the seed
bearing plants wherein seeds are naked i.e., not
enclosed by ovary or fruit. Angiosperms are seed
bearing plants wherein seeds are enclosed within
ovary or fruit. Since both gymnosperms and
angiosperms are seed bearing plants and therefore
are included under phanerogams. Pteridophytes are
categorized under cryptogams, not under
phanerogams, as they do not form seed or flowers.
BRI, fOF wiermreey Y et Srar €, Tt dier dtet
& Hafffd Far 81 Fuad §is gRor o arel Ot 8
ot e 7 @ & srurfa sfemery w1 welt AR TE €
&1 UfoaRd i aret i g € foe dior sfstery ar wet
& WieR Herw €1 €1 <ffeb e ik uforaes <=t €
T 4RUT A AT G & 3R gafew R & starta
onifiret #1 2REwTEeE B Rrera % ded aiffgd T
7T &, 7 & BRI & ded, Fifes 3 i a1 Bt T8
ERIGE]

Strobilus or cone

\ > §
Angiosperm

Fig: Phanerogams

37. The angiosperm plants in which seeds contain
two dicotyledons are called:
o dter fo=d < figdfierash i 81a €, deard &:

(a) Maize / gapT

(b) Paphiopedilum / Bdtaidtfeera

(c) Grass / g

(d) Dicot plant/ fgaisra=it gter
Plants producing seeds with two cotyledons are
called dicots. The cotyledons contain stored fat
that nourishes the embryo. While, plants having a
single cotyledon in their seeds are called
monocots.
3 FIST9H AT ST Iedd A aTat re Fgaersit dgerma 21
Cotyledons ¥ TUEId THT BIeiT & ST 90T ST GIVOT T B
Stafes, WX dte foaas oSl # U SISTa gielT 8, UebaioraT
HEATA B

38. Asexual reproduction in Amoeba takes place
through:

a) Regeneration/ g

b) Budding / aifad

c) Binary fission / ITeRY faRdss

d) Fragmentation/ faxds=
Explanation: Amoeba reproduces asexually through
binary fission. Amoeba is a small unicellular
shapeless organism with a porous membrane of the
cell that encloses the organelles of the cytoplasm
and cells. The common asexual reproduction
technique called binary fission reproduces amoeba.
After replicating the genetic material by mitotic
division, the cell divides into two equal-sized
daughter cells. The genetic material is therefore
distributed equally; the daughter cells are also
genetically similar to each other and the parent
cell. In this process, by the process of
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Karyokinesis, the nucleus of the Amoeba first
divides to form two daughter nuclei.

St fg-favde grT STeifMies ¥ & S Fvar g1 arfiar
HIABT T TP RSN fBeil S HATY U BICT U ABIT
STHREN 11T & ST HIFAPT T 3R FIRASTSA S SHal B
ERAT 8| TR faRds ATHe AT STfie UoHT ddH1d
SIS BT GHeedTe dRet § | TR fuTer grT angdfies
T Y ufdfa a9 & 918, SIAST & THH THR HY
Hafa Sifersit # fwfaid 8 STt 81 safeie srgafae
Tt T ¥9  fadfa dF S §; 9 i
STYATAD T J TP TR 3R T HIFADT & JAT gl &
5T uftear ®, SRafeafaa i uftear @, arfiar o1 $gw
FEY Uge fawTfaid g & 98 T1fie arar 21

Cytoplasm

£9~069~©;9~(D(O)

Chromosome DNA Cytokinesis Two Identical
Replication Daughter Cells

ST, ______ SRT GToedTiad el 81

a) vegetative propagation / aFdfd TR

b) fragmentation / fads

¢) budding/ FEifea

d) spore formation/ &t fAmfor
Explanation: Bryophyllum: They reproduce
asexually, through the vegetative propagation of
leaves. They are also called air plants. The leaves
of bryophyllum are broad, having notches at their
margins, these are the locations from which
buds arise. Vegetative propagation is a
reproduction method where new plants are
produced by vegetative parts of a plant called
propagules.
FIhEH: ¥ gfadl & arRafas TaR & JTem ¥ safiie
FT A USHT IR &1 32 a1g Gre oY FgT ST 8| STaftherd
& gfoat D g &, s TR R el R 81a €,
3 W € et A st Aead § amefis R
yor fafd € STet 7u ot ) & arafas amit grr fffa
1 F O Wiyt et ST 1

40. Which one of the following is a distinctive

characteristic of angiosperm?

fufafad & & $ oo i fafere fadwar 82
a) Thick bark/ At BT

) Small roots/ B¢ 53

) Long leaf/ wet gt

) Concealed seeds/ T s

o N O

41. The reproductive parts of angiosperms are
located in _________
a) Flowers / %ot
b) Leaves / ufeat
c¢) Root /3=
) Stem /dHT

42. Sweet potato is a modification of
LTS BT TAET &

a) Leaf /o=ft

b) Primary root /gTufiis I8

c) Adventitious root /usdfefead

d) Underground root /9f&Td 58
Sweet potato is a modified adventitious root.
Sweet potato is a changed adventitious root. Few
plants are modified by their root systems and
execute specialized features.
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TaRe U TMTAT ATefle oiF 21 Lraee U uRafdd
et 5T €1 $B Ut o 36T S5 wonfordt grT Tifad
T SraT & 3k fAAy Rdwarsit &) e far smar 21
P : ~1z',;,1§ - -y o

43. 3T H YT STl TATeD HIABY &
a) Bryophyta / sTaT®rser
b) Thallophyta / &awrger
c) Fungi/®as®
d) Angiosperms / UfSaRad
RRB Group-D 28-09-2018 (Shift-I)

Explanation: Wood vessels are the chief water-
conducting elements of angiosperms. In contrast to
the tracheids the final walls of the single vessels
are perforated or, much more so, completely
resolved.

Fungi: Itis a single cell or multicellular organism.
Example: Ascomycota.

Angiosperms: It is a flowering plants. Vessels are
the major water conducting cells in Angiosperms.
Example: Maize.

Bryophyta: They are non - vascular land plants.
Vessels are absent in Bryophyta. Example: Mosses.
Thallophyta: They are undifferentiated algae.
Vessels are absent in Thallophyta.

Example: Spirogyra.

AL & I T & qReT SToA-TaTed dd &l ¢fdpga
& fIudd, UFd STerail S sifaw dant B g g ar
o ot 319, QI e A & & ATl 8

Hah: TE Th The HIIAST T TEHHADIT Siid & | IeTeR0T:
WHIHTSHICT|

U U8 U Gof aTaT dtern B arfeeny o #
TR STeT HaTgeh HIfABTY & | ISTERUT: HerehT |

FTThTSeT: § TR-AagT fH gig €| srdreer g
U g &1 Iarevor: Al

eirprger: § sfduad Staret 81 deiiwrger § o1
U 1 &1 ISTERUT: TWTERNTERT

44. Which part is absent in gymnosperms?
S & &l 37 wmT Ui g 82

a) embryo / yur

b) Endosperm / TusRTH

c¢) Ovum/fss

d) Ovary/ 3
Explanation- Gymnosperms are plants that produce
seeds but lack an ovary . The seeds in gymnosperm
plants are naked. Gymnosperms are plants in which
the ovule is not surrounded by any ovary wall and
remains open both before and after fertilization.
There are exposed seeds due to the ovaries, so do
not bring fruit.
e Q8 Ot & St st dar ava & wifd sisrera &t
et g1t 2| ot dtet # o T g ¥ oo &
qte € o dierts favet off sfsrery &t dar & forr 48t
Bar € 3k At & ygat 3Rk a1 F GotT @At 81 35T &
PROT G dIf 1T 8, $ATT B 7 Y|

45. The other name for gynoecium is
TTgTS T T gERT A &

(a) Pistil/ fufea

(b) Stigma/ReraT

(c) Androecium/ gHTT

(d) Style/ ft

46. A plant that has seeds but no flowers and
fruits?

e U7 gt foad d @t €1 & @ Gt 3k tet TET
gd?

Bryophytes/ STaTthrged

Gymnosperms/ for@eas

Mosses/HIRH

Pteridophytes/ ¢REIwrIscH

needle-like leaves

cone containing
seeds for reproduction

a
b
C
d

—_— o~~~
_ ~ = —

stems

root system underground
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A plant having seed but lacking flowers and fruit
belongs to gymnosperms. Gymnosperms are
vascular land plants and bears seeds which are
naked i.e., ovules not enclosed in the ovary.

e ter ot e @Y & A et o et Y T et
3 ot 3 siata AT &1 et Taeh gy & o
g 8 ot i g & St W g & AT stsrery # Herw Tér
4 8l

47. Which of the following plants bears naked
seeds?

e da fea e dwda e 82

(a) Chara /=R

b) Funaria / waRar

(
(c
(

Marsiles / #1iar

)
d) Deodar / 2@eR

48. is the characteristic of monocot plants

_______ Ups oA gl Y {dwar &
Stilt roots/ Reee ¥co

Taproots/ du¥cd

Fibrous roots/ YerR <13
Annulated roots/ arfie 53

Monocot Vs Dicot

Seed 1 cotyledon 2 cotyledons
Fibrous roots Tap roots
Root
Have 4 or 5
petals

Narrow, parallel
veins

Oval or palmate,
net-like veins

Leaf

Vascular

Bundles Scattered

Ringed

; Have petals
Flower in multiples
of 3

PEWDACS

Pollen Have 1 pore Have 3 pores
Grains or furrow or furrows
49, __________ is a monocot plant.
__________ Tdh T ITTAT Tier
a) Rose / d1e
b) Daisy / 35i

10 Examples of Monocots

N weEdH

corn grass coconut orchid banana
S R
¢yt ,
M 4
“ [/
iris onion daffodil wheat agave
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(b) Filament/ framdic
(c) Anther/ TR

Q “ (d) Gynoecium/ Tg=Tae
“ & © % All the stamens of a flower are collectively called
= .
the androecium.
TS B & THT §HaR BT ATfed ¥4 A TgisfHad Har

STt 81

10 Examples of Dicots

bean coffee tomato daisy mint

rose pea sunflower apple maple

Androecium

50. Flowers with both androecium and gynoecium
are called

TR 3R e At aTeY el @Y et ST &
(a) Bisexual flowers/ fgfeitft et : Perianth

Corolla (composed of petals)

(b) Anther/ 'Q'?}T Calyx (composed of sepals)

(c) Stamens/ G|
(d) Unisexual flowers/ 3vafaitlt Tet
Explanation: A flower that contains both the male

Gynoecium (carpels) Androecium (stamens)

Pollen grain
Microsporangia

Stigma

Style
reproductive structure (androecium) and female

Ovules
(megasporangia)

reproductive structure (gynoecium) is called a
bisexual flower or monoecious. E.g. Rose, China
rose etc.
TF o o TR Tofe IRaT (Tgiefem) iR Arer uer
TR (TMTgTsfbaH) <1 €, vl ga ar
WACATT FHEaATd &1 IaT. T, e AT nfe| 53. Embryo sac is located inside the

yor ¥eft & SR AT gt &
51. The transfer of pollen from the anther to stigma (a) Stigma/fRerar
is called (b) Ovule/ 3iETHR
RATHY ¥ FfASTT B RITHUT BT TR HEATaT & (c) Micropyle/ ATsshIdTSeT
(a) Pollination/ wRTToT (d) Style/ ft

Pollen grain

(b) Fertilization/ fad=r=r Stigma *
(c) Adoption/ & UguT Spem
Style
(d) Diffusion/ 9aR
Cross-pollination —_—
pollen 1. Pollen from stamens sticks to a bee
grains as it visits a flower to collect food. 3. Pollen on the bee sticks
to a pistil of a flower
p on the other plant. Ovary
\/ v/ \
"
3‘? % e
PR ALY

Pollen tube

Antipodals

Embryo sac
. .
‘ /k pollen ) “L‘ The pollen grain adheres to The polien tube cell grows The pollen tube penetrates One of the sperm fertilizes
2. The bee travels .7-“% A ) the stigma, which contains into the style. The generative an opening in the ovule the egg to form the diploid
~ to another plant ,/ . two cells: a generative cell cell travels inside the pollen called a micropyle. zygote. The other sperm
of the same type. - and a tube cell. tube. It divides to form two fertilizes two polar nuclei to
sperm. form the triploid endosperm,
which will become a food
source for the growing
. v ‘ embryo.
52.. The male reproductive parts of a flower, the 54. The correct sequence of parts of female
stamens, are collectively known as reproductive organ in plants
TS Bl & R TSI 31T, IR, ATYfRS ¥ A SIH ST & et & ATeT Tt ST & 9T T T B
(a) Androecium/ TgifaTw

SHIPRA CHAUHAN@CLASS24/ BOTANY



PLANT KINGDOM- MOST IMPORTANT QUESTIONS

a) Ovary, Style, Thalamus and Stigma /
sts1er, e, dawa Sk Rerr
b) Stigma, Style, Ovary and Thalamus / e,
e, sfsTerg ik dawa
c) Ovary, Stigma, Style and Thalamus /
stsrer, Rerwm, deft oik daww
d) Style, Stigma, Ovary and Thalamus/ <,
e, sterera iR dewa
Explanation: Stigma - It is the head of the pistil.
It receives pollen, which begins the process of
fertilization.
Style - It the stalk of the pistil. It is a long, slender
stalk that connects the stigma and the
ovary. When pollen reaches the stigma, it begins
to grow a tube through the style called a pollen
tube, which eventually reaches the ovary.
It is the base of the pistil. It holds the
ovules for fertilization.

Ovary -

Thalamus - It is present near the stalk of the
flower. It supplies nutrients to the flower. Itis a
condensed axis of the flower from which all floral
parts arise.

Rt - ug TSGR FT RIRT 81 T8 AT U T &, S
s & ufesar 3 war 21

At - TE TP T S5 ¢ TE TP idl, Idel S5 & Sl
afdfaTyr 3R STET FY ASdT 8| ST AT FAd d TgadT
2, @ T WIT Tt I eht & ey A Uoh g Aefad
FRAT & IR AT &, ST 3idd: ST dH Ugd ST 2
STETLTYT - TE TR &7 MR 8| Tg = & farw aferor
&RUT AT 2

FATT - T€ BoA & SocT & UTT HIS[E &1 &1 T Ted
NS dcdl $F 3MYfd FRaT 81 T8 Tt $F U HufAd gt §
Sed @ft g v fReea 81

PR QG

Petal

Pollen Gram
STAMEN /.35 0
Anther J
Filament PISTIL
Stigma

E——@ Style
Pollen ‘l‘uhe

ny v

Ovule .\.
. 5

EBB
Embryo Sac

Receptacle
55. Functional megaspore in a flowering plant
develops into
TF Bl Tl U1 & wrafere AR R g @
(a) Endosperm/ wErgd
(b) Ovule/ 3iETHR
(c) Embryo-sac/ yor-eft
(d) Embryo/ yur
Explanation: In angiosperms, male and female
gametophytes develop within the sporophyte.
During female gametophyte (FG) development, a
single archesporial cell enlarges and differentiates
into a megaspore mother cell, which then
undergoes meiosis to give rise to four megaspores.
The functional megaspore grows into an Embryo
sac in angiosperms, whereas the other three
degenerate.
o #, R 3R AraT Heierge WRhEe & Hid
Refad ga &1 ATer TdEEe (Thsh) & R{ery & dRM,
Teh Uehel STRUIRT DA Ueh ATRUR AR Vel A 6
STt € 3R iR et B, S 99 IR ATROR B T A F
o arefeifaure & Tordt 21
Frafere ATRGR Tfoaead § ue yur it & sedr ¢,
Stafd a7 i ufad 81 o 2|
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Integuments

Meiosis Wall of
3 cells . === ovary
degenerate \}‘(\ Eribiisas
i : ‘megaspore,
p 4 haploid Micropyle gnoi;he):f ceﬁ
P cells (2n)
(@)
@
Embryo )
Embryo sac with i
a i 8 haploid nuclei Polar nuclei
()
3 Only showing N
Mitosis 3 { gametes {/ \}
3 times | —— /
( ) o o/

Polar nuclei  ggg Egg cell
cell ()

56. Which of the following are non-essential parts
of a flower:
fRufafdd & ¥ $H U Bot & TR-3mazgs wnT

a) Sepals and carpels/ Jued 3R Hda

b) Sepals and gynoecium/ Jued 3R

TSR
¢) Androecium and gynoecium/ UgIfaTm 3k
TSR

d) Sepals and petals/ Juew 37k vgfear
Explanation: Sepals and petals are non-essential
parts of flower. They are concerned with the
protection of reproductive organs and attract
insects and birds for pollination. The parts which
are directly involved in reproduction are called
essential parts. Gynoecium and androecium are the
essential parts of flower.
STglect 3R Ugfeal Bol & TR-3Maeued YT &1 d st
3T Y Rem B TefAd & 3tk wmTor & faw Hist ek
gfgrat T ST d X &1 F W ST Y uora 7 i
Ed &, 3TawTsd U HeaTd &1 Gynoecium 3R
androecium e & STaTS ST &

57. What is a collection of sepals?
JTEICH! T AUE FT 872
a) Calyx/ &efieg
b) Corolla/ ®RIaT

c) Petals/ dggr
d) Style/ gtefr

Explanation: Collection of sepals is known as calyx.
Floral parts like calyx and various other parts help
in the dispersal of fruits and seeds. Corolla is also
known as petals. Style is a part of the gynoecium
that helps in pollination.

TTEICA! & TUE B Sollad Fed &1 T8I UTT S Faiaed
3R 31 fAf e T et 3R Aisit & Setra § Heg v
PRIAT Y RS & T A oft ST ST B et

g faw &7 Ue fewar & St wmmor # Hag &l &l

Petals (all petals = corolla)

Male parts

Anther
(covered with pollen)

Filament

Female parts

Stigma
Pistil-{ Style
(carpel) |_Ovary

Ovule
Egg

Receptacle Sepals (all sepals = calyx)

Peduncle

©DaveCarlson

58. What represents the female part of the flower?
ool & ATST T &7 ufaffae oor o 872

a) Androecium/ UgTefaras

b) Corolla/ ®RTaT

c) Calyx/ Feftas

d) Gynoecium/ Trs=giaad

Explanation: Gynoecium represents the female part
of the flower. It consists of a stigma, style and
ovaries. The gynoecium is non motile. It's the
pollens that are motile. They fall on the stigma
which starts the fertilization process.

Gynoecium Fe & TTET T &7 ufafafda ovar &1 sad
T Fetap, el 3R siETery A & | e feun 71T Hersd
2178 mmT @ S el ¥ F S R usa € S e
UfhaT F AT B

59. What are the four whorls of the flower
arranged on?

SHIPRA CHAUHAN@CLASS24/ BOTANY
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oA & IR I DY fhd W yaf@d fasar Srar 872
a) Ovaries/ 3SR
b) Stem/ &H

c) Petals/ @gst
d) Thalamus/ Sawa

Explanation: The Androecium (stamen), Gynoecium
(pistil), Corolla (petals), and Calyx (sepals) are all
placed on the thalamus/receptacle in four whorls.
Thus, four whorls of a flower are located at the
thalamus. The four whorls of the flower are
arranged successively on a swollen end of a stalk
or pedicel known as the thalamus or the
receptacle. The receptacle gives rise to edible parts
of the fruit.

Androecium (4&R), Gynoecium (fafea), SRTer
(TRafea), ik Calyx (duew) Tt &) dama/Raesd
IR YRT # AT T &1 §T USR, Th A & IR I JoAwT
R AT & & oA & IR I BT HAD FT F U Sad AT
¥3d & ol §¢ R W suafdd favar sirar € 9 demg ar
TGP & T H ST AT 8| T80T e & W@ A WAl BT
ST T B

Androecium Gynoecium

Stigma
Style \Carpel

Ovary

Stamen Anther
Filament

Corolla [Petal]
Calyx [Sepall

A complete flower
60. When two different bacterial cells fuse during
sexual reproduction, they produces ________

Jq Y 3TATT- 3T SHATU] S ASIT T U & SR TS

(a) Spore / STy

(b) Bud / gst

(c) Fruit / ®e1

(d) Zygote /e

RRB Group-D 19-09-2018 (Shift-1)

The two gametes cells, fuse to form cells through
sexual reproduction, are called zygotes. In
multicellular beings, zygote is the prototype of the

embryo. In unicellular beings, the gamete divides
itself to produce new offspring, which is usually
completed by the process of meiosis.

6l. A bacterium is capable of withstand extreme
heat, dryness and toxic chemicals. This indicates
that it is possibly able to form _________

Ue STaTy] Sreafaes T, IEara 3R STede st &1
ATHAT A | Hew g1 ¥ 3 aar ¢ i a dvaa:
(a) Endotoxins / TSl

(b) A thick peptidoglycan wall / @& HIE
Ufegaresd AR

(c) Endospores / TERaRd

(d) Endogenous buds / 3fasitd sfeat

RRB Group-D 04-12-2018 (Shift-Il)

A bacterium is capable of withstand extreme heat,
ultraviolet and gamma radiation, dryness and toxic
chemicals. This indicates that it is possibly able to
form endospores. An endospore is a dormant,
tough, non- reproductive structure produced by a
small number of bacteria from the Firmicute family.

62. Who of the following can inhabit the most
Inhabitable habitats like hot springs, deep sea,
thermal vents and ice in Antarctica?
fofafaa & @ 319 sterdfes & mf grRAY, ey Tyqg, afd
de 3R o I T 311 g7 Ty et F Ry &=
THdT 872

(a) Virus / fasmoy

(b) Bacteria / ST

(c) Amoeba / 3rftaT

(d) Euglina / gfte=r

RRB ALP & Tec. (10-08-18 Shift-1l)

All bacteria, can inhabit the most inhabitable
habitats like hot springs, deep sea, thermal vents
and ice in Antarctica. They occur in maximum
number of microorganisms and are found in almost
all places. Archaebacterial cell walls are composed
of different pseudopeptidoglycan, glycoproteins,
polysaccharides and proteins, with no

SHIPRA CHAUHAN@CLASS24/ BOTANY



PLANT KINGDOM- MOST IMPORTANT QUESTIONS

peptidoglycan. This unique feature is responsible to
keep them alive in adverse conditions.

63. Which of the following is nitrogen fixing
bacteria?

fFofafaa & @ 19 Teeer R = a1 Shamy 272

(a) Salmonella / I =T

(b) Rhizobium / Irgifaad

(c) E. coli / § raTe

(d) Pseudomonas / S\

RRB NTPC 16.04.2016 (Shift-1) Stage Ist

Rhizobium is a nitrogen fixing bacteria. It is mainly
found in the roots of pulses. Rhizobium culture is
used for treatment of soil and seed. Rhizobium
culture benefits gram, lentil, black gram beans,
green gram beans, pigeon pea, groundnut,
soybean, linseed, beans and all other pulses crops.

64. Which bacterium is used to turn milk to curd?
U Y <€l § geer & e fang Sitaroy o7 g fasar Srar
27

(a) Streptomyces / XEHEIH

(b) Vibrio / fafaar

(c) Lactobacillus / dteeafaes

(d) Spirilla / Rafker

RRB NTPC 16.04.2016 (Shift-1) Stage Ist
Lactobacillus bacteria are used to turn milk to curd.
Yogurt is a milk product made by bacterial
fermentation of milk. It is rich in protein, calcium,
riboflavin, vitamin Bé6 and vitamin B12

65. Which of the following is a kingdom that
contains unicellular organism with prokaryotic cell
organization (having on nuclear membrane), such
as bacteria?

fufafad & & S a1 v T amrsy @ S
MHRAeS B AT Ao (R Feet W) & T1T
TSRS Sfta grar 8, SR dadiar?

a
b
c
d

Fungi
Monera
Protista

(
(
(
(

_ ~ = —

Plantae

66. The first photosynthetic oxygen liberating
organisms appear on earth were-

Jdl IR UEA TSI HRAVS Mt Teb B dTe Sfig
e gU -

(a) Cyanobacteria / TrgiaaRar

(b) Bryophytes / STahTScH

(c) Green algae / &%t glata

(d) Bacteria / ST

RRB ALP & Tec. (30-08-18 Shift-Il)

Cyanobacteria, also called blue-green algae, were
among the earliest organisms on Earth. These
primitive bacteria produce oxygen during
photosynthesis as they fix CO2 dissolved in the
water and they are the first oxygen liberating
photosynthetic organism present on earth. It is
believed that BGA is resposible for origin of the
oxygen-rich atmosphere on earth.

67. Amoebiasis causes:

SrfiaTafiRT HT HROT T B:

(a) Severe cold / ¥R 33

(b) Dysentery / ofrer

(c) Headache and cold / e afik a<f

(d) Fever / @R

RRB JE 23.05.2019 (Shift-Il)

Amoebiasis causes dysentery. Amoebiasis is a
parasitic infection of the colon with the amoeba
Entamoeba histolytica. Symptoms may include
fatigue, diarrhoea, weight loss, fever etc.

(a) Rod shaped / 37E & 3SR HT

(b) Comma-shaped / 3TeUfaTH & DR BT
(c) Spherical / MR

(d) Spiral / wfte

RRB JE 25.05.2019 (Shift-I)

Bacilli are bacteria which are rod shaped.

69. If a bacterium has a tuft of flagella at one end,
what it is called?

Tfe freY ShaTo] & Ue Ok IR AT &7 =87 81T 8, ot
39 T FEd &2
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a) Peritrichous / aRfe=g

b) Monotrichous / HIHIfeTT

¢) Amphitrichous / IWa=R

d) Bacitrichous / f&dea

RRB JE 26.06.2019 (Shift-1)

If a bacterium has a tuft of flagella at one end, it is

(
(
(
(

called monotrichous.

70. Escherichia coli occurs in:
TR HrarE 3 g

(a) Intestine of man / A & 31fd

(b) Water / gmit

(c) Milk / g&r

(d) Soil / fagt

RRB JE 29.05.2019 (Shift-1)

Escherichia coli occurs in the intestine of man.
Symptoms of E. Coli may be severe stomach
cramps, vomiting and diarrhoea.

71. Which of the following does not belong to the
kingdom Monera?

fofafRd # @ S AR amwrew & Tdfad T8 87

(a) Bacteria / Sifar

(b) Diatom / sracH

(c) Cyanobacteria / TredaiRar

(d) Mycoplasma / HTSHITATSHT

72 Which of the following reproduces by budding
?/ FfaRad & & S A1 FdIed gRT U= &l &

(a) Amoeba/. 3rHtaET

(b) Paramoecium/ tRrifaras

(c) Yeast/ dRe

(d) Plasmodium/ wrsHaIZad

RRB Group-D 09-10-2018 (Shift-Il)

Budding is a type of asexual reproduction(in Yeast
and Hydra) in which a new organism develops from
an outgrowth or bud due to cell division at one
particular site. In budding, the parent organisms
have a protruding structure called bud.These buds
develop into tiny individuals and, when fully
mature, detach from the parent body and become
new independent individuals.

ST U USR 7 e wor (Ae ik grger #) &
Td v AT WM W SIfdsT A¥res & $RuT v a9

S &7 faer €T 81 Faifed 89 &, ot Shal & va 39l
§S WA &l & S Fefl FaT Sirar 1 A wfeaT vr-sie
aferal o faefad gt € 3ik, 59 gft e ¥ uRuaga &)
STt €, @Y T R F 31T & St & 3R A0 W@dw safh
CERCIGIR

73. The fungus Puccinia graminis causes:/ gfeafaar
AT FaF BT HRT I B:

(a) Red rot of sugarcane/ T &T @Tel Hg

(b) Ringworm in human/ 7SI & aI¢

(c) Late blight of potato/ 3Te[ ST & ¥ T AT

(d) Black rust in wheat/ g o &TaT 331

RRB NTPC 10.02.2021 (Shift-1l) Stage Ist

74. Which of the following shows multiple fission?
fFofafad & @ #7 sg-fadsT gufar &2

(a) Yeast/ ¥

(b) Hydra/ grgr

(c) Plasmodium/ wrsHIZad

(d) Planaria / wAfr

75. In some multicellular organisms, such as
Rhizopus, mushrooms, and some bacteria,
Aspergillus, etc., reproduction takes place through:
FO TEHIAS Sl 7, I S wgaioy, aem 3k v
i, wRfer, snfe & gorme g &:

(a) Regeneration / 3e™¥

(b) Spore / &¥aITTy

(c) Fertilization / 8=

(d) Fission / fads=

76. Which division among plants has the simplest
organism?

et & ST b faves # 998 Wd Sfia 82

(a) Pteridophyta / eftSItrger

(b) Thallophyta / &afTwrger

(c) Bryophyta / sTaT®hrger

(d) Gymnosperms / fogreas

77. Yeast used in making bread:

AE S H UGTH B ITeAT WHR:

(a) acts as a catalyst for fermentation. / fvaw &
T 38R® & 7 d S ot 2

SHIPRA CHAUHAN@CLASS24/ BOTANY
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(b) does not help in the process of fermentation./
fpuam &t uferar # Hag TEl a8

(c) makes it tasty. / Tt SATAT 21

(d) acts as a preservative / T& TR&& & ¥9 § S
FRATe

RRB NTPC 06.04.2016 (Shift-1l) Stage Ist

Yeast is a unicellular saprophytic fungus. Antonie
van Leeuwenhoek (1632-1723) was the first to see
yeast cells. It is used to make acid, alcohol and
bread by the process of fermentation .
Fermentation is a biochemical reaction in which
complex organic compounds are decomposed into
simple organic compounds with the help of micro-
organisms. Microbes(yeast) act as catalysts in
fermentation.

78. Lichenis relatedto _________ division.
ATEdT __ e & defda 21

(a) Bryophyta / STaT®rser

(b) Thallophyta / &afTwrger

(c) Pteridophyta / ¢REThrser

(d)

d) Exudative BG / vaagsfeg disht

79. Plants that do not have a well-differentiate

body design, fallinthe _________ group.
W 1t foad QR & F91ae STeT-STenT TET g,

Bryophyta
Gymnosperms
Pteridophyta
Thallophyta

80. Which one of these is a saprotroph?
0 q B TE gargsidr 872

(a) Pigeon / &R

(b) Mushroom / #3&H

(c) Man / 9oy

(d) Algae / Staret

81. The fungal cell wall is made of -
FIS FIAST AT sy = et & -
(a) Hemi-cellulose / Ht-Tegerat

(b) Cellulose / Aeettsr
(c) Chitin / fafes

(d) Lignin / fafos

(a) Slime mould / &9g Ales
(b) Fungus / &ds

(c) Animal / ogg

(d) Plant / s>

) Agaricus / 3TTReT
b) Cyanobacteria / ATgda<ar
Mycoplasma / ATSHIGATSHT

Paramoecium

84. Algae belongs to which of the following
groups?

Qdarer Rafafad & I f5o aqg 3 dfaa 22

(a) Pteridophyta

(b) Thallophyta

(c) Angiosperm

(d) Bryophyta

85. Which of the following reproduce through
spore formation?

fofafaa & @ 319 o] fFafor & arem @ uo=- ar
&7

(a) Rhizopus / Irgsiad

(b) Bryophyllum / sTaifthere

(c) Planaria / w=Rar

(d) Hydra / gTggr

RRB Group-D 10-12-2018 (Shift-1Il)

RRB Group-D 16-10-2018 (Shift-11)

Rhizopus reproduce through spore formation. Like
the class fungus, members of this class are
achlorophyllous. They have thalloid like body
structure, that is, there is no differentiation in their
body tissues. In Hydra and Planaria, reproduction
occurs through asexual reproduction

86. Fungi, depend exclusively on insects for their

food are known as-

SHIPRA CHAUHAN@CLASS24/ BOTANY
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PP, ST 3T Mo & fav 3w F7 F Figf w ik g
(a) Saprotrophs / dureitr

(b) Parasitod / tRifders

(c) Worms /&2

(d) Entomopathogenic / Termrdaifae

87. Which of the following reproduces by budding?
fafafad § & $ Fafed giaR I T 872

(a) Amoeba

(b) Paramoecium

(c) Yeast
(d) Plasmodium

88. Which one of the following plants is not
classified in Thallophyta division?
fFofafaa & @ o7 a1 gty deiiwrger f3diom & arfiga
TE 8?

(a) Chara /=R

(b) Riccia / Rfdsar

(c) Ulva / Jcar

(d) Spirogyra / TTERITIRT

RRB Group-D 11-10-2018 (Shift-1)

89. Unequal daughter cells are produced in

(a) Sporulation / TFa
(b) Fission / fads=
(c) Budding / sfsm
(d) Fragmentation / fass=

90. Which of the following organisms are also
known as 'bread mould’?
Fafafed & O fosm Sfa &1 'SE aies’ & T ¥ o ST
AT 872

(a) Rhizopus / Irgsiad

(b) Amoeba / 3rHiaT

(c) Plasmodium / wHIgaw

(d) Yeast / @HR

91. The vast amount of sea weeds present in ocean
may produce an endless source of:

Tqg ¥ Hisg Yl JRUAART &Y AT AT T e
TId I R Tl 8

(a) Methane / 199

(b) Ocean thermal energy / HETETR ¥Hd HaTt

(c) Sea wave energy / THd! @T&X HaAt

(d) Nuclear energy / GRHTT] a1t

92. The plants in
called algae.

group commonly

__________ g & Wyl B R W AaTed HaT ST
a) Gymnosperm / famf

b) Thallophyta / d@oprger

c) Pteridophyta / 2fSIprger

d) Bryophyta / STaI%Tger

Py

93. Which of the following is a non-vascular plant?
fofafaa & @ 19 ve R-daet dtar 82

(a) Chara /=R

(b) Mersilea / Afdferar

(c) Cedar / T@er

(d) Fern / waf

94. Plant group which do not have roots, stem and

leaves are known as

________ & ¥0 F Y STt &
Rhizoid / rgsiss

Capsule / Foga

Thallus / &&=

Bryophyta / sTaT®Tger

95. Which of the following is a plant body that is
not differentiated in roots, stem and leaves?
Fofafad & @ $9 ve Gt o1 Rk & S S1st, a7 3k
ufeat o fafea =€t 272

(a) Chara

(b) Riccia
(c)

(d)

Spirogyra
Marsilea

96. Algae are the most primitive plants and are
found exclusively in

daret geH anfen dig § 3k 3w u & urw S1a &
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Mud
Air
water
Sand

a
b
<)
d)

(a)
(b)
(
(

97. Which of the following is a unicellular green
algae?

fafafad # § $H-91 TEHfAdT &= dare 872

(a) Chara

(b) Ulothris

(0)

(d)

Spirogyra
Chlamydomonas

98. Which division among plants has the simplest
organism ?

(a) Pteridophyta

(b) Thallophyta

(c) Bryophyta

(d) Gymnosperms

RRB Group-D 05-11-2018 (Shift-11)

The division ‘Thallophyta’ of plant kingdom has the
simplest organisms.The division Thallophyta has
the simplest entities as their body design is simple,
they do not possess a body-specific design.

This division includes bacteria, algae, fungi, lichens.

The bodies of these entities are undifferentiated
lacking the presence of any vascular system to
transport mineral salts or water nor do they
possess true roots.

Thallophytes are typically found in wet regions.
These are mostly autotrophic in nature.

99. Which of the following is commonly known as
red algae?

(a) Chrysophyceae

(b) Rhodophyceae

(c) Phaeophyceae

(d) Chlorophycean

The members of the rhodophyceae are commonly
known as red algae.

100. _________ plants are called amphibians of
the plant kingdom.

Gtet &1 UTed AT & IHAR FET oIl e

(a) Bryophyta / sTaTwrser
(b) Pteridophy / 2ftrdt

(c) Angiosperms / Tforaregs
(d) Thalophyta / eforareas

101. Which of the following is not a bryophyte?
fofafed # @ o srierse 78 87

(a) Marchantia

(b) Riccia

(0)

(d)

Fumaria
Chara

102. The protrusion extends from the lower
epidermal cells of the bryophytes is called

a) Rhizoid / 3185118s
b) Thallus / &&=
c) Seta / e

)

(
(
(
(d) Capsule / e

103. Which of the following plants is included in the
class Bryophyta?

fafafea § & 7 ar gty sTwrger of § anfie &2

(a) Ulothrix / IdtfgeT

(b) Cladophora / FASIHRT

(c) Riccia / Rfear

(d) Marsilea / ffdsar

104, __________ are seedless vascular plants, that
share a unique life cycle with independent
gametophyta and sporophyta phases are usually
discussed together due to common features
including vascular plants.

__________ e 2fed Hagd dtd €, St wca
HACTBrgeT SR TRIBTSET RO S AT TS Gl 1g Sta
T ATST IR &, AR W Fag-1 et afed amr=
fawarait & srRur ve ATy ==t B STt 2|

(a) Gymnosperm / fowead

(b) Pteridophyta / ¢REIhrser

(c) Bryophyte / STatTEe

(d) Angiosperm / Tforared

RRB Group-D 24-10-2018 (Shift-Il1)
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Pteridophyta are seedless vascular plants, that
share a unique life cycle with independent
gametophyta and sporophyta stages are commonly
discussed together due to common features
including vascular plants.

105. __________ are not found in plants of class
Pteridophyta.
MErwEeraf Fatetd __________ ET Te ST 8

(a) Leaves / afeat

(b) Flowers / %ot

(c) Root / &

(d) Stem / ©™

RRB Group-D 25-10-2018 (Shift-11)
RRB Group-D 23-10-2018 (Shift-II1)

106. Which of the following plants do not belong to
the Thallophyta group?

Fafafed & & a9 & NS dareser vy F dafod Téf
&7

a
b
c
d

Cladophora / FISIBRT
Chara /=R

Ulothrix / I@fgeT
Marsilea / ATiRife@T

—~ o~ o~ —~
_— ~ = —

107. Which of the following plant body
differentiated into roots, stem and leaves?
FafaRed & 3 5w 9t o1 iR o3, 991 oik ufeat &
faafed 82

(a) Marchantia / w<ifear

(b) Marsilea / ATfdferar

(c) Funaria / =far

(d) Chara / =R

RRB Group-D 11-12-2018 (Shift-1l)

Marsilea is a plant of class Pteridophyta. Their
body is differentiated into root, stem and leaves. In
Marsilea, vascular tissue is also found for the
transport of water and other substances from one
part of the body to another. These plants have
hidden reproduction and do not have the ability to
produce seeds, hence they are called cryptogams.

108. Which of the following plants have hidden
reproductive organ?

Rofafed & @ fog A & yor= i Bar gar 82
(a) Marsilea / arfdferar

(b) Pinus / foa

(c) Ipomoea / aIfEET

(d) Cedar / 2@eRr

109...cccvnnnn. were the first terrestrial plants to
possess vascular tissues./ ........... Hagt Fefe WA
aTel Ugel ety g 2

(a) Bryophyte/ sTaI®rger

(b) Thallophyta/ Sarwrger

(c) Algae/ drate

(d) Pteridophyta/ cREIwrger

RRB Group-D 01-11-2018 (Shift-1l)

Pteridophytes were the first terrestrial plants to
possess vascular tissues - xylem and phloem. In
Pteridophyta, vascuar tissue is well defined but
they lack vessels in the xylem and companion cells
in the phloem. Vascular tissue does not develop in
Bryophyta and Thallophyta, i.e, xylem and phloem
are not present. Algae and fungi belong to
Thallophyta./ eREIGEEH Uga Weiy ey & ford
HaEH! SdD - ASAH 3R FAeH &| RSiprger #, Hagt
Fdd JTeH! Te § TR g1 § @ifcs 398 S §
arfeeTatt 3R TweH o ATt SBT3 HY FHY BT B
STATISeT 3R AAIETSer # Hag! Sad faafid T8l grar
2, I STeew 3R T Hise TET €1 § 1 dare ek

Fad Jeiihrger I T&fAT &

110. Pteridophytes are ...........
(a) Seed of non-penetration
(b) Seedless vascular plants
(c) Seed vascular plants

(d) Seed of progeny.
RRB Group-D 31-10-2018 (Shift-IlI

111. Which one of the following plants does not
belong to class Thallophyta?/ fafafed & @ o &1
Tter deiihrger arf @ wafad 76 €72

(a) Cladophora/ FHETHRT

(b) Ulothrix/ IafdeT

(c) Chara/awt

(d) Marsilea/ wRRiferar

RRB Group-D 03-12-2018 (Shift-II)
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RRB Group-D 08-10-2018 (Shift-I)

RRB Group-D 15-11-2018 (Shift-11)

Cladophora, Ulothrix, Chara belong to class
Thallophyta.

The entire body of thallophytes is like a thallus in
which complete biological functions are carried out
whereas Marsilea is a pteridophyte which is
differentiated into root, stem, leaves.

¢) Carrot / TSR
d) Wheat/ 7§
RRB Group-D 10-12-2018 (Shift-1)

113. Gymnosperms are commonly referred to as
________ type seeds, because they do not

produce flower, and their seeds develop on the
surface of the reproductive structures of plants

rather than enclosed by any ovary wall.
________ UPHR & &I & T H
Tefifa fvar ST 8, Fuife 3 o 7 der awa €, stk 37
Aot Tt sfsera &1 dar & ok 819 & sotrg dtel &Y
TS FRET3AT BT e W e g g

(a) Naked

(b) Correct trait

(c) Non-motile male gametes

(d) Winged

RRB Group-D 23-10-2018 (Shift-I

Gymnosperms are commonly referred to as naked
type seeds, because they do not produce flower,
and their seeds develop on the surface of the
reproductive structures of plants rather than
enclosed by any ovary wall. Ex: Ginkgo biloba and
Sequoia

114. Which of the following plant groups bear
naked seeds?/ fufafed & F fg dtd ogg & o fiw
e 8?

(a) Gymnosperms/ fagRaTd

(b) Angiosperms/ 3Tgdadtsit

(c) Pteridophytes/ 2fSIree

(d) Thallophytes/ dirmreea

RRB Group-D 12-12-2018 (Shift-Il)

RRB Group-D 28-09-2018 (Shift-1)

RRB NTPC 13.01.2021 (Shift-1l) Stage Ist

The seeds in Gymnosperm are without sheath.

It lacks ovaries.

This plant is evergreen, woody and tall.

They are dioecious in nature, in which the stomata
are embedded in the leaf and epidermis is covered
with a layer of cuticles.

Coniferous plants have been kept under this, such
as pine and spruce etc

115. Which of the following is gymnosperm?
Fofafed § 3 o9 St 82

(a) Moss / #

(b) Pine / ares

(c) Mango / 3

(d) Fern / &

116. Ephedra plant is classified under

(a) Bryophytes

(b) Angiosperm

(c) Gymnosperm

(d) Pteridophytes

RRB NTPC 01.02.2021 (Shift-1) Stage Ist

Ephedra is a genus of gymnosperm shrubs. The
various species of Ephedra are widespread in many
arid regions of the world. The genus Ephedra was
first described in 1753 by Carolus Linnaeus.

117. Food present in bulbil occurs in
FeAtaet H IURAT Wi BT &
a) Root /S8
) Petiole /gaaT
)
)

O

Leaf base /it &
Stem /a1
Bulbil is a modification of leaves. Food present in

a N

bulbil occurs in leaf base.
ATt il BT T FLE &1 FAtaet | Hiolg Hier et
ST A BT B
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T

BULBIL
(Ex: Dioscorea)

118. Plants with well differentiated reproductive
tissues, which eventually form seeds, are called:
et e U FANfed uoHe Sas arel e, St sida: dier
A 8, FEAT &:

(a) Thallophyta

(b) Pteridophyta

(c) Phanerogam

(d) Cryptogam

RRB Group-D 26-10-2018 (Shift-II)

Plants in which reproductive tissues are well-
developed and differentiated and produce seeds
after reproduction process are called phanerogams:
such as gymnosperms and angiosperms.

119. The reproductive parts of ___________ are
located in the flower.

(a) Bryophyta

(b) Pteridophyta

(c) Thallophyta

(d) Angiosperm

RRB Group-D 04-12-2018 (Shift-Il)

RRB Group-D 16-10-2018 (Shift-Il1)

The reproductive parts of angiosperm are located
in the flower.

120. The reproductive parts of angiosperms are
located in .........

(a) Flowers

(b) Leaves

(c) Root

(d) Stem

RRB Group-D 25-09-2018 (Shift-1)

The reproductive organ of angiospermic plants is
located in the flower. In these, double fertilization
is visible. They are found as soil borne, parasitic,
symbiotic, insectivorous and autotroph. The
vascular system is well-developed. These are
usually terrestrial plants.

121. In which of the following plant groups does the
seeds develop inside an ovary which then ripens to
become a fruit?/ oA A A o A g d @
ST & 3R fafAd B & St a1g § Ushak Bl & ST
&7

(a) Pteridophyta / eRErwrger

(b) Gymnosperms/ fogiragd

(c) Thallophyta/ defwTger

(d) Angiosperms/ 3gdstoir

RRB NTPC 31.07.2021 (Shift-1l) Stage Ist

RRB Group-D 23-10-2018 (Shift-I)

Pteridophyta is a division of the plant kingdom,
comprising the vascular cryptogams. They are
flowerless plants exhibiting an alternation of two
distinct and dissimilar generations. The first is a
non- sexual, spore-bearing, sporophyte generation.
In gymnosperms (conifers and allies) the ovules lie
uncovered on the scales of the cone. In
angiosperms (flowering plants), one or more
ovules are enclosed by the ovary, which develops
into the fruit

122. Butea monosperma is the botanical name of
which plant that is native to the Indian
subcontinent?

(a) Shirish

(b) Neem

(c) Palash

(d) Peepal

RRB NTPC 28.01.2021 (Shift-1) Stage Ist

Butea monosperma is the botanical name of Palash
plant that is native to the Indian subcontinent.
Plant Name- Botanical name

Shirish- Albizia lebbeck

Neem- Azadirachta indica.

Peepal - Ficus religiosa.

Basil- Ocimum tenuiflorum

SHIPRA CHAUHAN@CLASS24/ BOTANY
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123. Which of the following is not a feature of
dicotyledonous plants?

(a) Reticular vein

(b) Fibrous root

(c) Main root

(b) Two cotyledons

RRB Group-D 22-09-2018 (Shift-I)

Such plants, which seeds have two cotyledons, are
called dicotyledonous plant , i.e, they can be
divided into two equal cotyledons. Ex : Sunflower,
Mango etc. Dicots have flowers arranged in
whorls, two cotyledons, and a vein arrangement
that forms networks within their leaves.
Dicotyledonous plants lack fibrous roots. Fibrous
root is a characteristic of monocot plant.

124. Pollination is characteristic of plants of group:

a) Pteridophyte
)

(
(b) Cross fertilization
(c) Angiosperm

(d) Bryophyte

RRB Group-D 16-11-2018 (Shift-1) RRB Group-D 23-
10-2018 (Shift-1)

Pollination is characteristic of plants of group
Angiosperm. Angiosperm plants are known as
flowering plants. Enclosed seed means such a
group of plants in which the spore or seed is
enclosed by ovary wall. The Australian Eucalyptus
is the longest angiospermic plant in the world. The
plant is sporophyte, which is divided into roots,
stems and leaves, and pollination occurs through
various means. The tissue system in plants is well-

developed in angiosperms.

125. Pollination is characteristic of plants of group

W _ T & gel H Rdwar &)
) Pteridophyte / ¢REwrse
) Cross fertilization / &1 fAs==
Angiosperm / Tfargeas

Bryophyte / STaThge

b
c)
d)

126. The leaves of angiospermic plants have
_________ type venation.
Sgedsh dret B aRE TR BT
fRRTfa=Te g 21

(a) Four / IR

(b) Three / &9

(c) Two /<

(d) Six / g

RRB Group-D 29-10-2018 (Shift-Il1)

The arrangement and distribution of veins and
veinlets in the leaf lamina is called venation. There
are two main types of venation: Reticulate and
Parallel. In reticulate venation the veins are
irregularly distributed to form a network. It is a
characteristic feature of the dicotyledons. Parallel

venation is characteristics of monocot plants.

127. Brassica Campestris is the botanical name of
which plant?/ @ FaRew faa ol &1 awfas
A 8?

(a) Corn/ Corn

(b) wheat/ g

(c) Buckwheat/ 3Tt

(d) Field mustard/ T=&t

RRB NTPC 27.01.2021 (Shift-Il) Stage Ist

The common name of Brassica campestris is
mustard. The first part denotes the genus of the
plant while the second denotes the species. Some
botanical plants are as follows:

1) Corn (Zea mays)

2) Common wheat (Triticum aestivum)

3) Buck wheat (Fagopyrum esculentum)

128. Double fertilization is a property of .../
(a) Gymnosperm/ 3HTgdsIS

(b) Bryophyte/ sTaI®ISCT

(c) Angiosperm/ 3TTgasilsit

(d) Monocot/ HF®ie

RRB JE 28.06.2019 (Shift-Ill)
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(b) Daisy / S5ft

(c) Garlic / eTeg

(d) Carrot / ToR

RRB Group-D 30-10-2018 (Shift-Il)

Paphiopedilum is an example of monocot plant.
This plant found in the eastern Himalayas and
Assam at an altitude of 1300 to 2200 meters. It is a
very beautiful plant that grows on the soil and
grows in the moist soil of the river banks in the
forests. This flower is attractive, colourfull blooms
and has ability to remain fresh for several weeks.
They are popularly called Lady's slippers because
of the presence of a highly modified pouch-like
labellum, which looks similar to a lady's slipper. All
species flowers of Paphiopedilum are often called
"slipper orchids" because of their unique pouch.
Monocot plants are marked by seeds with a single
cotyledon.

130. What is the scientific name of the 'Touch-
Me- Not' plant?/ ‘zg-Hi-Afe’ Ut &1 dafae 98 a1
&7

(a) Mimosa townsendii

(b) Mimosa verrucosa

(c) Mimosa loxensis

(d) Mimosa pudica

RRB NTPC 09.01.2021 (Shift-1l) Stage Is

Mimosa pudica also referred to as touch me not,
live and die shame, plant and humble plant is a
prostrate of tropical America and Australia, also
found in India heavily armed with recurved thorns
and having sensitive soft gresy green leaflets that
fold and droop at night.

B.__ is a plant which grows in the
forest and has stinging hair on its leaves which
cause painful stings when touched accidentally.
(a) Nettle

(b) Pigweed

(c) Clovers

(d) Miner's Lettuce

RRB NTPC 17.01.2021 (Shift-I) Stage Ist

Nettle is a herbaceous plant that grows in the wild.

Its leaves have stinging hair, which causes painful

stings when touched accidentally. This is due to
the methanoic acid secreted by them. Urtica dioica
is a scientific name of the stinging nettle.

132. What is the scientific name of the fruit
'mango’'?/ '3’ T BT AATD TH 4T 872

a) Solanum tuberosum/ d-H c&RET

b) Musa paradisicum/ gaT Rifefen

c) Mangifera indica/ BTtRT gf3a@T

d) Pyrus malus/ Uy @

RRB NTPC 08.02.2021 (Shift-1) Stage Ist
Mangifera indica is the scientific name of the fruit

(
(
(
(

'mango’. Other fruits and their scientific names are
as follow:

Banana - Musa paradisicum

Apple - Malus pumila

Potato - Solanum tuberosum

Pomegranate - Punica granatum

Sweet Potato - Ipomoea batatas

Guava-Psidium guajava

Onion - Allium cepa

Pea - Pisum sativam

Tulsi - Ocimum sanctum

133. What is the scientific name of green pea?/
& T T AT T 4T &2

(a) Pisum sativum/foay dfeqw

(b) Ipomoea batatas/ sUIfoaT sere

(c) Triticum aestivum/ fefeww vReaw

(d) Zea mays/ fomm a9

RRB NTPC 03.03.2021 (Shift-Il) Stage Ist

The scientific name of green pea in Pisum sativum.
It is also called garden pea.

The scientific name of wheat is Triticum aestivum.

The scientific name of maize is Zea mays.

134. What is the botanical name of common
wheat?/ I g & aIdfAd 19 T9T 872

(a) Hibiscus Rosa sinensis/ fafswma s
RIESITE]

(b) Triticum aestivum/ fefedn tRean

(c) Zea Mays/ fauras

(d) Brassica campestris/ &fa@T dmfRed
RRB NTPC 20.01.2021 (Shift-1) Stage Ist
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Some common names with their scientific names:-

Common Name- Scientific Name
Wheat - Triticum aestivum
Gram - Cicer arietinum
Mustard- Brassica campestris
Pea- Pisum sativum

Gudhal- Hibiscus Rosa sinensis

135. What is the long hair-like part in root cells
called?

33 P ADT3N T S STAT I U BT T P&l ST &2
(a) Root Nails.

(b) Root Hair

(c) Root villi

(d) Root tracheids

136. Vegetative parts of a plant are -

T & Frafas YrT § -

(a) Root, stem and leaves / 5T, a7 3R 7=

(b) Root, leaves and flowers / 578, Tx 3R Gt
(c) Root, stem and flower /g, 4T 3R Tt

(d) Leaves, stem and flower / ufvrat, ©@w 3R Tt

137. Ginger, a rhizome used as cooking and
flavoring agent, is an .

& 0 N AT T ST g, v ___ 2l
(a) Underground stem / yftnrd 0

(b) Underground root / 4f&iTd 51

(c) Aerial stem / gaTs ®H

(d) Aerial root / gaT8 5T

138. What part of the potato plant do we eat?
B 31Te] & THY T HI JT 91T | &2

(a) Root / 518

(b) Seed / &5

(c) Flower / 1

(d) Stem / =w

139. Select wrong statement in the following:
The upper and lower layer of cells in the leaves

(a) protect internal parts. / 3Tidfes WY T & B
(b) control the amount of water. / UT=l &F AT &I
g w2

(c) synthesize food / Yo THNd

(d) exchange gases / 11 &T SEH-UGH

140. Which part of the plant contributes to the
exchange of gases?

T &7 B 1 9T A & SEH-UeH H ANTe T 872
(a) Stem / =1

(b) Root / ¢

(c) Buds / sgq

(d) Leaves / ufaat

141. In plants, gases are exchanged through

2l
a) Stomata

b) Collenchyma
<)
d)

Sclerenchyma

(
(
(
(d) Parenchyma

142. The stomata are located in:
AT &

(a) Red blood cells / @ Th HIHABT
(b) Chlorophyll / F@RI e

(c) Stomach / te

(d) Leaves / ufaat

SHIPRA CHAUHAN@CLASS24/ BOTANY
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145, _________ are parts of the stamen
_________ YHR & T |
a) Anther and ovary

Anther and stigma
Anther and style

Papaya / gdidr
Mustard / T&T
Sunflower / IXSgT
Hibiscus / f&fswpa

- —

b
C

147. is known as hermaphrodite

__________ F IUTfTht BT & FT A ST ST 2
Papaya / gdidr

Watermelon / TRt

Cucumber / &&HsT

Mustard / TRT

148. The male reproductive parts of the flower are
called

(a) Carpel / &1
(b) Stamen / &8
(c) Petals / Tgsr

(d) Sepals / Jue

149. Flower parts are arranged on the floral axis,
that is known as?

QST W QN7 3787 R HaiAd 1 8, fod ded 872

(a) Sepals

(b)

(c) Placenta
(d) Oviduct

Inflorescence

150. Pollen grains are found in-
RETHUT TY AT 8-

(a) Stigma

(b) Ovule

(c) Anther

(d) Style

151. Which of following is a bisexual flower?
fFofafed § @ a9 e yafa go &2

(a) Mustard

(b) Papaya
(0)

(d)

Watermelon
Cucumber

152. present in the centre of the flower,

forms female reproductive system.

153. The reproduction parts of a flower are:
U el & ToT- 30T &

(a) Stamens and carpels / YR 3R P
(b) Calyx and carpels / daiad 3R ST
(c) Calyx and corolla / FaaT 3R SR
(d) Corolla and stamens. / ®RIAT 3R GHER
154. The essential organs in the flower for
reproduction are:

T § UoHA & fAv smagas 3

(a) Sepals and stamens

(b) Stamen and pistil
(c) Sepals and petals
(d) Petals and pistil

155. What is the long hair-like part in root cells
called?

33 P ADT3N T S STAT I U BT T P&l ST &2
(a) Root Nails/&e s

(b) Root Hair/ ¥ R

(c) Root villi / ¥ faett

(d) Root tracheids / ¥c 2frga

156. Match List-1 with List-1l and select the correct
answer using the codes given below the lists.
- 1| & T1g - | &1 e ot ik gfewt & R i
T HIE &7 ITANT b T I |
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List-1/ F=h- |

A. Androecium/Tgiaam

organ/ HfgeT Ui 3T

B. Gynoecium / firgafesa

organ/ Go¥ U 3T

C. Stamen/ W8

/ ST H TETE

D. Carpel / RO

gynoecium/ TTsAfdas &t s1e
ABCD

a)2134

b)1342

3421

d)4213

List-11 / g=h- Il

1. Female reproductive
2. Male reproductive
3. Unit of androecium

4. Unit of

(
(
(
(

157. The process of cell respiration is carried out by

a) Mitochondria/ ATgcIamI-gar

b) Chloroplast/ FARIERE
Nucleus/&<®

None of the above/ g0 & &I oft &}

158. An important product of the Krebs cycle is
ST TH BT UH HE@YU! IATE &
a) Water/ urt
) Methane/ #tgs
) ATP
) None of the above/ 370 @ &I +t 78l

Q N O

159. Glycolysis occurs in which part of the cell?
TATSHIATS AT HIfAST & v o & gar 872

) Cytoplasm / HTEeIToH

) Mitochondria / ATEcI®i~sar

) Golgi apparatus/ Mesiied

) Chloroplast/ FRIEIRE

QO N T w

160. Oxygen is not required in ______________
F stfafiorT $t smagaddr TE At &

a) Photosynthesis / UehTeT HHYUT

b) Aerobic respiration / @Rifs® H7=
c) Glycolysis / T@HIaTSRAT

d) None/ & oft 7&¥

Photosynthesis: It is the process of the preparation
of food by plants in presence of sunlight. Oxygen
is released in the process and not required for it.
Following reaction takes place during the reaction.
6CO2 + 6H20 + light — CeH1206 + O2

Respiration: The carbohydrate produced in the
process is burnt in presence of oxygen and energy
is released. So, oxygen is required in the process.
CeH1206 + 02 — 6CO2 + 6H20

161. Which is the process mainly involved in

transpiration?

TSI | TReT ¥ A B Y vfgear emfiver €72
a) Inhibition / fAsrer

) Respiration / a9

) Osmotic pressure / TRIRRUT &I

) Diffusion/ 9aR

Qo N O

162. In plants, the gaseous exchange take place in:
qtet #, g e gar @
(a) Stomata/ T¥er
(b) Roots/ 518
(c) Stems/ 3Iusit
(d) Lenticels/ wifcdea

a) aandb

b) aandd

c) bandd

d) bandc
Stomata are present on leaves to help in
photosynthesis and respiration. Gaseous
exchanges play a very important role delivering
sterling results to the users.
lenticels are small pores that are found on stems.
they also help in the exchange of useful gases
throughout the lifecycle of the plants.
qferdl W 39 UeTer-HANT 3R HHT § Hergar & faw
Il g 81 TRfta e Suataatstt ot wefem
gRRomy v a1 # Sgd Teaqul yfieT fuma g
TR B 31 B g A3 F A ot 7 T wre o ¥ 3 et
& R Shiaas & Iuahh A9 & sem-ve # f e axa
&l

163. Respiration is:
O 8
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Amphibolic process/ IWT=R UfshaT
Catabolic process/ 3q=g ufear

c) Anabolic process/ 3HTSIfee Ufdhar

d) None of these/3 8 I &I el
The respiratory pathway is an amphibolic pathway
as it involves both anabolism and catabolism. It is
catabolic pathway as, during this process, various
complex molecules are broken down into the
simpler molecule to obtain energy. Carbohydrates
are broken down into glucose. Fats are broken
down into fatty acids and glycerol. Fatty acids
further get converted into acetyl CoA. Proteins are
broken down into amino acids. During synthesis of
fatty acids, acetyl CoA is withdrawn from the
respiratory pathway. Similarly, during synthesis of
proteins, respiratory substrate amino acid is
withdrawn. Hence, it is also an anabolic pathway.
AT TY VS INTR AN ¢ i g8 Iuey ik sraag
ST LA €1 T8 Seraliord dnt 8, Fife 33 ufehar &
R, FoI U I & faw fafis sifeet sropaei & war
3] & g faar Srar 81 F1afesse @ § ge o 8l
T et ufe aftv FereRiar # ge ot &1 et ufds amh
wfierse Haie # aRafda g S §) id ity ofds o
ge o 21 et uflis & HAwor & R, Tfierse sy
A I F I9H o foram Srem 1 s ke, Wi & Hewor
& dRM, 4O Geage AT UlE ara o faam Sirar &1
3T, U8 T Iu=g AT Y 8

164. The organism which depend on the dead and
decaying organic matter is:
ag e St g 3R et FEAE Terdf w Rk dvar &
CES
a) Autotrophs/ Turst

)

b) Saprophytes/ duIwrEeH
c) Carnivores/ AiETERY
d) Herbivorous/ TT&TERT

165. Which plant hormone is responsible for saving
the crops from falling.
FHA! BT fIRA 9 & faiw S a1 ured g fSwer
2l

a) Cytokinin/ argeifsAa

b) Gibberellins/ fiiaxfa=

c) Auxin/ e

d) Ethylene/ Tfde=

166. Name the plant hormone which is responsible

for the ripening of fruits?

el & el o felu TRt urey gTHi o 1 feifaw?
a) Ethylene/ Tfde=

b) Auxin/ 3rifqaT
¢) Traumatic/ciafes
d) Cytokinins/ rgelfsi~a

167. Which plant hormone is helpful in making RNA
and protein?

PIT-TT UTey gTHT RNA 997 N s & Heras giar
2?7

a) Gibberellins/ MisRfa=T

b) Auxin/ 3rifqaT

c) Cytokinins/ |TgcIrs==a
d) Ethylene/ Tfdef

168. Name the plant hormone which increases the
activity of cambium in the wooden plants?
3T UTSY 1A T 910 Id13T ST dIhs! & el 7 Sirgay
&1 fopamefietar 1 serar 87

a) Gibberellins/ fiiafe=

b) Cytokinins/ TrgeifsfaT
c) Auxins/ Tffea~T
d) Ethylene/ Tfde=

169. Which hormone is formed in leaves and helps
in the blooming of the flowers?
P AT ETHH Tl § 7T & 3R Goel & Ko § 7ag
AT 8?
a) Traumatic/ciafes
) Auxin/ Srffeas
) Florigens/ G
) None of the above/ IR # ¥ HIE &l

Q N O

170. Radish is an example of:
Al $THT UG ISTER0T &:
a) Fusiform root/ GHIwT ¥

b) Napiform root/ AfU®iH ¥
c¢) Conical root/ ATHR STE
d) Tuberous root/ &RH ¥
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PLANT KINGDOM- MOST IMPORTANT QUESTIONS

172. Roots associated with nitrogen fixing bacteria
are:
AT RN TR a1 Sharupait F J 318 &:

a) Fusiform root/ GHIGIH ¥

b) Napiform root/ Af0®iH ¥

c¢) Nodulated root/ TideR 3Tg

d) Conical root/ idaTHR STE
Root nodules occur on the roots of plants that
associate with symbiotic nitrogen-fixing bacteria.
Certain plants form a symbiotic relationship with a
Rhizobia when there is less nitrogen in soil. Within
root nodules, nitrogen gas from the atmosphere is
converted into ammonia and is then used by plant.
These organisms are used when nitrogen fertilizer
is reduced.
¥ Asge dyl & T8t R g & S Feoiidt ArseloH-
iR ST & oo &1 g 7 Arsgiod o7 8 W
B T ST & [Ty Tgoid! TSy a1 &l I
Tegey & WieR, IR A ATserer 19 s &
gRafdd & STt 8 afk O utedr gRT Uz &t STt 81 5
Shiat &7 ITTNT A9 AT ST & S A1SeIoH 3k HH &
ST &1

173. The edible part of turnip is:
TSI ST /W AT AT 2
a) Modified Adventitious roots/ Tenfaa
ATEfAP oS
b) Modified tap root/ Tenfad ¢u ¥
c) Stem/ddr
d) Underground stem/ fRTTe &1

174. Rhizome of ginger is a modification of stem
because:
IS PT ThE - BT WLMeH & Flf:
a) It bears Adventitious roots/ gg& 513
KGRI
b) It bears nodes and internodes/ T8 igd 3Rk
$eTgd B URUT BT 2
) Itis underground/ g yfATa
d) It stores food material/ Tg ATl AT &I
YSROT &=l 2

175. Vivipary is the characteristic of
Ao et fagar 872

a) Mesophytes/ AATGECH
b) Xerophytes/ SRIbrscH

) Hydrophytes/ gregitreed
) Halophytes/ galirses

C
d

P

176. Sweet potato is a modification of
QTERpE BT TIMET &

Leaf/ Git

Primary root/ WTafiis oI
Adventitious root/ ITERAF T3
Underground root/ fATrd ST

(a) Epicarp and mesocarp/ Tfiard 3k gt

(b) Epicarp/ wfterd

(c) Mesocarp and less developed endocarp/ BT&6Td
3R F1 fowfaa et

(d) Endocarp and less developed mesocarp/ TSIdTd
3R o fAefia aared

178. Pneumatophores occur in plants of
AT & Yl # g1y ST &

(a) Marshy soil/ geaett fAgt

(b) Saline soil/ cfauftar fagt

(c) Water/ arit

(d) Sandy soil/ ¥tett fagt

179. Turmeric is a stem because

17. Eo<l U a1 & Fifh

(a) It grows parallel to the soil surface/ @ fAg &t
g & JHHIR 9gaT &

(b) It stores food material/ Ig aTer ATHN ST YSRUT
FRAT

(c) It has chlorophyll/ so® F@RIfthet &

(d) It has nodes and internodes/ g g 3ik
$oiga 8

180. Match List-1 with List-Il and select the correct
answer using the codes given below the lists. /
- 1| & T1g G- | &1 e ot ik gfewt & 9 i
T HIE &7 ITANT b T IR |

List-1/ g=h- |

List-11 / 3=- Il
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1. Pollination by animals/ SITHaRT gRT GRATOT A.
Zoophily/Sftrett

2. Pollination by birds/ dférat gRT GRETOT B.
Ornithophily/3nfFe et

3. Pollination by water/ Tl gRT GRTTOT C.
Cheiropterophily/ SRR thelt

4. Pollination by bat/ §¢ gRT wmTOr D.
Hydrophily / gTsgithet

ABCD
a)1243
b)4231
c)4213
d)3214

(
(
(
(

181. Which among the following is not a true fruit?
iR # & #1791 v T= B T8 82

a) Plum/&

b) Dates/3e

c) Grape/ 3R

d) Apple/ 39
Technically, an apple is not a true fruit. True fruit is
aripened ovary. Apple fruit develops from the
thalamus part of the flower. When a fruit develops
exclusively from the ovary, it is called a true fruit
But, when in addition to the ovary, some other
floral parts like tepals, bracts, or thalamus also
participate in the formation of the fruit, then such
fruit is known as a false fruit.
BT T, Ueh A Teb F<dT el 81 & | HAT el TepT
F3MT SIS BT 81 AT &7 ol T & AT 91T F
fIefd gaT 81 59 F1E B AT ¥ F 5oy ¥ i
1T 8, AT S TS AT Bed DT AT 8, Wi, 19 ST
& AT, TO 3T TS YNT T Aued, daed, a1 Jamg +f
e & FAfor & v & 8, @ O B & ¥ H ST A §
U 3[6T He|

182. Spiny or sticky pollen grains and large,
attractively coloured flowers are associated with
Ficer a1 RufT wuTwr 3k 93, Hvs T & Hol
frod gy 2 gu d?

(a) hydrophily/ grggifthett

(b) entomophily/ T fthett

(c) ornithophily/ STfeftreft

(d) anemophily/ THHI et

183. Embryo sac is to ovule as is to an

anther.

YT A Y IASTHR HAT BT & Flfd
RATHILT & AT g &1

(a) Stamen/ &

(b) filament/ fhemde

(c) pollen grain/ WRTT &UT

(d) androecium/ Ugifeaw

184. Which of the following hormone is found in
gaseous form?

RafafEd & @ & a1 g IR &0 § arar S g2
A. Florigens/ weiifaiie

B. Abscisic Acid/ tfeafais uffig

C. Ethylene/ Tf¥ef=

D. Auxin/ 3fifeas

185. Which of the following statement is incorrect?
fefafad & & S A1 HUH Teld 872

A. Auxins are the most important plant hormone/
TR T Hgeaqul urey g gl

B. Auxins are produced at the region of elongation/
TR dgra & &= # fAffa g &

C. Indoleacetic Acid (IAA) is a principal auxin/
AR TfiE (IAA) T uiRa 3iifaa 2|

D. Auxins are also important in requlating the fall
of leaves and fruits./ 31faa= faat 3R el & fIRA HY
afad s 7 oft meayef 2

186. Which plant hormone helps in breaking the
dormancy of plant?

P TT T gTHIT G Ht Jeararyr &1 digs # Heeg avdT
&7

A. Auxin/ ST

B. Gibberellin/ ftsfa=

C. Cytokinin/ TTgeifdi

D. Ethylene/ Tfae=

187. Which of the following hormone help in the
cell division and development in the presence of

auxins?
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fufafaa & 3 7 ar g aiffeas & suf@fa & b) Secondary growth /aTenfdes gfe

HIfAeT U 3R R # 7ae T 872 c) Presence of vessels /aTfeerail & suf@fa
A. Ethylene/ Tfaee d) Autotrophic nutrition /ZGdTdt gryoT

B. Cytokinins/ &rgelfefa Double fertilization is a characteristic feature of

C. Auxins/ JAffea=
D. Florigens/ wAIiiie

angiosperms. In this process of double fertilization,
both diploid zygote and triploid endosperm are
formed.

ST AT TR &Y ue fadiwar 81 ey e &
by which the injury of plant is healed? 0 uferar B fgyfora gramer ik fgfora yordiy gt a9a
T HIASISA T B AT Urey gTH §eT & fSred atg gl

& 9 S 8 ST g-? o :E;;gosperm

A. Florigens/ weilfaiie

B. Traumatic/ grafe®

C. Abscisic Acid/ Tfsafas ufis

D. None of the above/ IWih & & B T&T

188. Which plant hormone is formed in injured cells

Antipodals

7 £ Zygote
g d | (2n)

Release of sperm cells \
Double fertilization

Egg cell
Synergids ~

189. Leaves are attached to the stem at
ufeal a9 e e &

(a) Internode/ gexArE

(b) Nodes/ rgg

(c) Apical meristem/ Tf@e AT

(d) Axillary meristem/ TR ARkew

190. Most primitive vascular plants?
Ffeter SMfew FHae- dtd?

a) Mosses /gRar

b) Cycads /a$dsc

c) Kelps /&g

d) Ferns /&=
The Pteridophytes are the most primitive vascular
plants, having a simple reproductive system lacking
flowers and seed.
Ferns belong to pteridophytes. Pteridophytes have
a well-differentiated plant body with vascular
tissues.
RETwTEeT e nfey Tae Wi €, fad va aryror
TS WU gt & Foras et 3R ey =18t €1 &1
T 2RETTTEcy A Tafdd &1 2RSTwrecy & Yagd) Sdat
& Ty TP 3HT RE I AT S 1 aiR dar B

Q191. Which one is not an exception in
angiosperms?
B UfHERTH # svarg 78l 87

a) Double fertilization /ereT fAv=r

Q192. Pteridophytes differ from mosses in
RErwrecT AT A A= g1a €
a) Independent gametophyte /¥ad# TAcItBEe
b) Well developed vascular system /gfa&fad
REEEIE]
¢) Archegonia /3T
d) Flagella spermatozoids /T
e
Pteridophytes have a well developed vascular
system and have xylem and phloem, while
bryophytes lack vascular tissues. Thus vasculature
is a distinguishing feature of pteridophytes and
bryophytes.
2ReIETEe H U R e A i daed qurel @t
g ok 3o Srsew 3Rk TeE g €, Sefs Srahreed #
Hagt Sad! BT HHI gl &1 TH UPR IRGAR
RETPIEcy 3k sTaTwTEeT $i s fafde fadwar 21

Q193. Angiosperms are the dominant flora because
of
a) Domestication by man /a7 gRT Tforare
b) Power of adapting in diverse habitats
/fafaer srmardt § g o afh
c) Self-pollination property /¥g-TRTTOT 70T
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d) Property of producing a large number of
seeds /gt T § &t BeT TR HT 0T

Angiosperms are the most diverse and widespread
of all plant groups.
Their dominance is due to the power of adaptability
in diverse habitat.
They are well adapted to terrestrial life and occur
in diverse habitats like cold tundra to hot tropical
and even desert areas.
They also thrive well in the aquatic habitat.
vt Tt et & woEt ¥ we Ry ok sae #)
IHT Uy fafaer smamt § siga emdT &f s &
FRUT B
3 orcfir Sfiae & AT areet e @ e ¥ ok R
STATHT oI 33 g8 A @R TH Iwidlesdiy 3k 78t 9
[ERGESICIR eI R AN G ]
q STefrr Srmare # off areet ke ¥ O 2
194. Plants having vascular tissue without seeds
T IS aTet HaEtt Fas arat dre

a) Angiosperm /UfoERTH

b) Pteridophytes /e¢fEItrge

c) Bryophytes /sTOTGISCH

d) Gymnosperms /famRaf
Pteridophyta is a group of non-seed forming,
vascular cryptogams, i.e., these contain vascular
tissues for the conduction of minerals and water
but do not produce seeds.
RETwTEer R-dIS F919 a1, Tae frerita &1 vs aqg
2, T, 38 WS SR urt & HaTed & fow daet S
1 ¥ Afda i dar 7 awa &

195. The plant group that posses largest ovule,
largest gametes, and largest tree
FST I EAT &

a) Angiosperms /gforared

b) Gymnosperms /fSHad

c) Pteridophytes /¢REIwrge

d) Bryophytes /STOT®ISCH
Gymnosperms refers to the group of naked seed
bearing vascular plants.
Their seeds are naked as these are not enclosed in
an ovary, like that of the angiosperms.

This group includes large trees, like the pines,
conifers, cycads and Ginkgo.

o 77 57 9RO FR aTe Hag el & v S
Hefdd T

3% €57 77 g9 & Fuifes & oS 6 ke sem J
Hery el B 2l

T g # 93 U3 i €, I Fig, FifAuw, areds ik
o=

196. Zygotic meiosis is the characteristic of
Sgfes arefgpfavre & v &

a) Fucus /paa

b) Funaria /&afRar

c) Marchantia /a<ifear

d) Chlamydomonas /FRHATSEHATT
Chlamydomonas is haploid plant. Hence, zygotic
meiosis occurs in chlamydomonas.
FRAUTSSIHITT N0 gter ¥ safay, sass=g o
SrgTfed srefgEAifauTa g &1

197. A colonial alga is
& fufafde dare @

a) Volvox /afadied

b) Chlorella /aieT

c) Ulothrix /geifeT

d) Spirogyra /TATEIRTIST
Colonial algae is a kind of algae consisting of cells
resembling free swimming unicells making groups.
They can be large and interconnected or smaller
and relatively simple for example in Synura.
3ufAAfAE Aaret T USR &7 Sare & T gep Rt
THHRNDT THE T aTelt HHADTaT SRt AT 2t
213 93 3R IR FB gU T BT 3R AeTdHd IR &
DA &, ISR & Tow FaRT A
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Cells
Mucilage

colony

Protoplasmic strands
Volvox

198. Conifers can tolerate extreme environments
because of
HIATR TS ITATIRUT BT g IR D & aGIfh

a) Presence of vessels /arfgsren &t suf@fa

b) Thick cuticle /HE Beett

c) Superficial stomata /Tdgr 3y

d) Broad hardy leaves /=Ygt &St ufamt
Conifers (Gymnosperms) are adapted to tolerate
extreme environmental condition because of thick
cuticle, sunken stomata and needle like leaves.
9 B!, €T ¥y 3R ufdt SRt g€ & SRoT SR
(o) rafas gaiaRuily fafa &1 g7 & & fav
Igpfod g &1

199. First plants to inhabit the land
fff 7 3§ It UE Ui

a) Angiosperms /3TTgasteit

b) Bryophytes /STaThIseH

c) Gymnosperms /fgead

d) Pteridophytes /¢REIwrge
Bryophytes are known as the first amphibians of
the plant kingdom. They are the first plants whose
vegetative structure depend on the terrestrial parts
and reproductive life depends on water. Hence, the
first land inhabiting plants are Bryophytes.
STTHISEH DI UTay SHId & TUH IHAR & T H SIHT
ST 31 3 UEe T € fOdt arafa TRem el amit w
R et & 3R T S art R R o= 81 s,
e i # 36 aTel Ui STaTKrsed ¢

200. Agar is commercially obtained from

Daughter

________  uTe faT ST 2
a) Blue-green algae /e & farer

) Red algae /aTe Shata

c) Brown algae /o gtater

d) Green algae /&% gatd

Sol-

The gelling agent in agar is an unbranched
polysaccharide obtained from the cell walls of
some species of red algae, primarily from the

genera Gelidium and Gracilaria.

IR B AT Tl wTer AaTer Y 5 Tea B BRIST
fafy ¥ ure v S1fad UTedanTss §, IR0 §9 A SRT
Afefsam sk HfdaRar A

201. Which one differs from Spirogyra based on its
nucleus?
SO ATHE & SR TR TTRNRT I I A7 AT 872

a) Azygospore /3TSITROR

b) Zygospore /SITETRGR

c) Akinete /3fdae

d) Aplnospore /STATHRGR
The akinetes and aplanospores are asexual bodies
in Spirogyra. These are haploid structures. The
zygospore is formed during sexual reproduction by
fusion of two protoplasts. Prior to germination the
diploid zygospore nucleus undergoes meiosis.
TTRIMRT B Ufded 3R T RoRy stafias A g
¥ IO TR &1 SGTRER 1 Fwfor 7 v &
R 3 MeeiRe & o= T g1dT & 37T A Ugat
FRfOr ST AT SreRgR Ao & JoraT 21
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202. Which of the following completely lacks cell
wall?
Rafafda d & foad g e @ e fafy 78 e 272

a) Blue-green algae /e & arer

b) Saccharomyces /THAT

c) Sea-fan /&gt dar

d) Cyanobacteria /aTgidacioraT
Gorgonia belongs to cnidaria class- Anthozoa
(animal). Gorgonians are also known as sea whips
or sea fans and are similar to the sea pen, a soft
coral.
These marine invertebrates are multi-cellular, have
no cell walls (a characteristic of plants), most have
tissues (organized groups of cells), and all are
heterotrophic.
TR Refar arf- waeiter (GHeR) & d@&fad 2
TIRMAT & T I1ge 9T 996 R & ¥ F ot J7
STaT & 3R YT HeAd, T A YT S TEH & &
T gL IHIhHT TEHIADT B &, 78 FIE BT
faf 7€t gt (det & ve fadwar), sifwisr d Fae
(P APT3M & A3 FE) 1 &, 3R wfl fawwaredt g
gl

203. Prothallus gives rise to sporophyte without
fertilization. This is known as
T T FA¥=e & WRItTee &1 3 2T 81 38 & §9
F ST ST @

a) Apogamy /3TariHt

b) Parthenocarpy /gr&i=ieTdt

¢) Parthenogenesis /3TgdT degfe

d) Apospory /TRy
Prothallus (gametophyte) gives rise to fern plant
(sporophyte) without fertilization.
This phenomenon is called apogamy.

Development of sporophyte from gametophyte
without forming gamete is apogamy.

T (TeeTse) fomr f8=e & & die ([ARI%se) H
ST AT 8

S YT I TURIHY HET SI1aT &1

e &1 FAToT {6 fomr groeifag & WRitee &1 faer
ot 81

204. Which one is responsible for the formation of
peat?
die & fafor & faw a9 Seer 82
a) Riccia /Rf&ar
) Sphagnum /3um
) Marchantia /AT f=Rrar
) Funaria /®af@r

Q N O

Sol-
Peat is mainly an accumulation of partially decayed
vegetaion or organic matter and Sphagnum
accumulations can store water, since both living
and dead plants can hold large quantities of water
and living matter (like meat) for long distance
transport inside their cells hence, it is reponsible
for peat formation.
e T30 ¥ ¥ JifAe §0 F TSI §8 aWid I1 Se S
TeTYT T U T & 3R THTUH T U & TUEd %
T 8, T St 3R g T ated st Hifrprsi &
iR ot gl 3 e & fore a€t W & ard ok S
TeTd (AT Y TRE) [T T 8, TG Tg SR &1 die
T3 & faal
205. Isogamous condition with non-flagellated
gametes is found in
R-egstifeed et & ATy Tafdared) fAfA org s @

a) Chlamydomonas/adTgSIa=TT

b) Volvox /aicaiad

c) Spirogyra /TATEIATIST

d) Fucus /$ed
The isogamy with non-flagellated gametes is found
in Spirogyra. Spirogyra is commonly known as
water silk.
R-eaoTifed Qe aTaT THgTHT WTRITIRT § TTaT SIraT
B TTEATIRT Y STHAR W aTeR e & F9 § ST A1t
&l

206 Meiosis occurs in
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TGI8t &

a) Diploid cells /fgTford Sifgrepre

b) Haploid cells /3]0 HIAHT

c) Mostly haploid cells but occasionally
diploid cells /31fa&aR 3TIfOId NS Afp
ol RO ST

d) Mostly diploid cells but occasionally
haploid cells /3R fgTford HIfAST @
Pt SO T

Sol-

(D=0 CELL DIVISION

[ 46 )
‘ DNA Replication
|92 7
Division #1 (Meiosis I) < -
l Synapsis and crossing over

[ 92 )

Al 46 ) 46

Division #2 (Meiosis II) / \ / \ MeiosisII

207. An evolutionary important character of
Selaginella is
JATAT T T RASrIaTEY Heeaqof afa @

a) Strobili /et

b) Rhizophore RTSSIHR

c) Heterosporous nature /favagrasit Uepfd

d) Ligule /feaTer
Evolutionary important character of Selaginella is
heterosporous nature. Selaginella produces two
types of spores microspores and megaspores.
Heterospory in the life cycle of Selaginella leads to
the formation of seed habit.
JATTIAAT T faebrAarct Heeaqut aiar fawwgrasht upfa
BT 8| AATTAIAT T TSR F SIST0] ATSHROR 3R ATRGR
a1 AT 8| FATIOT & Siiae = H gaRT J &ie $r
arred &1 fAwfor gar &

/ \ Metaphase I, anaphase I, & te

208. Which is the common characteristic of
multicellular fungi, filamentous algae and
protonema of mosses?
FEPIASTT Fass, fariew dare 3R glar & wefar
& AT faLreT i 82
a) Mode of nutrition /GIVUT &T dA&T
b) Diplontic life cycle /fEarsfed Sfiaw o6
c) Multiplication by fragmentation /fads= gRT
o
d) Members of Plant Kingdom /q7eu ST &
parcees)
Sol-
Multicellular fungi, filamentous algae and
protonema of mosses all show multiplication by
fragmentation.
TEHIASIT Fash, ey darer 3Rk uig & Werfmr
T} faRds gRT 1o T 2

209.are not found in

a) Gymnosperms /fagrd
b) Pteridophytes /¢RREIwrge
c) Angiosperms /3Tgasisit
d) Bryophytes /STT®ISCH

210. The transport of male gametes in bryophytes
and pteridophytes occurs through

FGTEEY 3R REwIEeT # | grus! &1 uRaed fFad
HTegT & €T}

a) Wind/gar
b) Water /gt
c) Birds /afgmt

d) Insects /&g
In bryophytes and pteridophytes, transport of male
gametes requires water.
The male gametes, produced by reproductive
structures called antheridia, are free-swimming
sperm cells that need water to transport them to
the female gametes, which are enclosed within
structures called archegonia.
SrwTEey 3R RETwEeT ¥, R gras! & uRasd & faw
O Y ST gt 21
AR IHe g TRaArt gRT Afda R gre gon-
RIS ep1U] FIABTT gt € fA= [TeT gt a6 & o
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& foT art & g Bl €, ST ST ATHe
TreTa & iR Ty Bt B

211. Which of the following parts of a plant take

part in sexual reproduction?

Tt &7 FafaRed # 3 $H-91 90T e S99 & 9T T

&7

) Fruit and Flower /&%a 3R e
b) Only Flower /&ded B
) Flower, Seed, and Fruit /e, §iT 3R wet

d) Fruit, Branch, and Seed /%d, 2TRaT 3R ST

Flowers take part in sexual reproduction in plants.

Seed forms as a result of the sexual reproduction

process. Fruits are the covering of seeds that

protects them.

All three are part of sexual reproduction. Flowering

plants, also called angiosperms, use a sexual mode

of reproduction.

Reproduction in plants, mainly revolves around the

flower, which has both the male and the female

gametes.

All parts of a flower aid in the process of

reproduction, although some of them are sterile.

ot Grell # @ifii Uo7 9T @ 8| A9 U ufehar &

aforRaEy dist a9 § vt Sl @7 smaror @ F St

EECHREICRO N

AT I v &1 iR &) e are O, 5

S +ff 8T ST 8, IS & U A HIS BT ITUNT

&R

Tre § Ui 0 ¥ I e S IR SR gudT 8, forad |’

3R uTeT ST gras B 2l

Bt & Tt uTT USr i ufthar # Tgrar aRd €, geifs

3T U T SiT B B

212. Self-pollination will lead to
¥G-TRIT0T T 3R o ST

a) Overbreeding /3fiaRsfaT

b) Outbreeding /3mM3esifsT

c) Inbreeding /3Tdfe Wol=-

d) Al of the above /W & Tt
Self-pollination occurs when the pollen from the
anther is deposited on the stigma of the same
flower, or another flower on the same plant.

Self-pollination leads to the production of plants
with less genetic diversity, since genetic material
from the same plant is used to form gametes, and
eventually, the zygote.

TI-TRATOT A BT & ST TRATHILT & WRIT 3T e &
gfdem o a1 34 U W ) 3 ot W STHT & ST 8
[W-RATOT F HH YA fAfqyar arer dte o1 Iaare
BT 8, ifh U & i & ngdfe it ot umhT
TS § & fore fvar Smar &, ok siaa:, graa|

213. The cells of which of the following layers of
the anther wall are multinucleated due to
endomitosis?
TSHTSCIAT & SRUT WATHI Y SlaR i Agfafea & 3
o TR Y HIABTC Igheta Bl 872

a) Epidemis /ufusfoa

b) Endothecium /usrefifras

c) Middle layer /Ae0d @A

d) Tapetum /cUeH
Tapetum is the innermost layer of anther wall. It is
the major nourishing layer. Its cells become
multinucleate and polyploid through endomitosis
and endopolyploidy.
e RITHILT H R 6 Ted fiad wa 8| T8 va
T IR 8| T BHIABIT TEHTSSIAH 3R
TESOIAAISS! & AT § §gHard 3R Ufeii 188 & STt
gl

214. Pollen grains lose their viability within 30

minutes of their release in:

WMTHUT Nefier 819 & 30 e & iR 31+t sagerdar @t

e
a) Rose /T[a9
b) Potato /31Te]
c¢) Pea/ax
d) Wheat /7§

The pollen grains lose their viability within a period
of time which varies from plant to plant.

The viability of the pollen grains of rice and wheat
is 30 minutes.

RIS THY $HY 37afd & fieR 7o+t syagmfar @ 2a & s
Tt 3 ote & e g 2

Taet 3R g & RATHU 6t sragriar 30 fme 1
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215. How many of the nuclei in the female
gametophyte in angiosperms are surrounded by
cell wall?
oo 7 #rer fAeiprse ¥ fhaw e S fafa &
R g &2
a) 5
b)
c)
d)
After the 8-nucleate stage, cell walls are laid down

0 N o

leading to the organization of the typical female
gametophyte or embryo sac.

Six of the eight nuclei are surrounded by cell walls
and organized into cells.

8-gfFeTdic TRUT & q1¢, Vel &I Sai fyors Jrdt €, Sy
fafere arer AAwge ar yor et o1 TireT gar &1

33 # A we ATHS Hifer fafy d fok g & ik
FifrPpraT # sgafd g gl

Antipodals

Synergids
Filiform

apparatus
A mature embryo sac of angiosperm

Egg apparatus

216. The fusion of female reproductive nucleus with
the male reproductive nucleus is known as
HIET ST $ge BT TR ST Srgdh b ATT AT el &

a) Adoption /axi® UgUl

b) Excretion /3c@eiq

c) Fertilization /A==

d) Regeneration /gsia-
The process of fusion of the male and the female
gametes is called fertilisation. The main motive of
all living organisms is to produce offsprings to the
next generation. In the sexual reproduction, the
fusion of male gamete and female gamete forms
zygote.
TR 3R O1eT grEd! & Jergw &Y ufesar & fAv= w1 ST
21 ft Shfaa Shat &1 qreg 3227 3nTel N & fovw Tam

a7 AT B W T H, R grae iR 11er e &
TG A TIAST ST 2

217. The two nuclei at the end of the pollen tube
are called
WRIT el & 3 B & S5 T &
a) Tube nucleus and a generative nucleus
/I8 gfdea 3R va SRfed faad
b) Sperm and ovum /T 3R fEa
c) Generative nucleus and stigma /sfed
faerm R afdem
d) Tube nucleus and sperm /SWRfed gfawaa
3R Ty
The tube nucleus and a generative nucleus are two
nuclei at the end of the pollen tube.
RN &S & 3id § @ Yfaway iR v afed gfawog
3t e g &

218. One nucleus of the pollen tube and secondary
nucleus of the ovum grow into
RN Tl BT TH g dUT 0] T fgdfius d<d
fefagare

a) Stigma /afdemr

b) Endosperm /uusigH

c¢) Anther /3R

d) Stamen /qS-HTR
Endosperm is formed when the two sperm nuclei
inside a pollen grain reach the interior of a female
gametophyte (sometimes known as the embryo
sac).
One male nucleus fuses with the egg cell to form a
zygote (2n) and another male nucleus fuses with
the secondary nucleus of the central cell, resulting
in endosperm (2n) formation.
TSR d9 ST & 9 WRITHUT & 3R & LehT0] ATAe
aTeT MAwTge (Fuf-duft yor el & ¥ & FFT ST R)
&F IaRe U # Ugd I &
T&F R ATMAG 372 B HIRAST S AT AR rA- (2n)
FATAT & 3R TIRT R Fgd g HIfAeT & fgetos Igad &
a1y R 8 5rar 2, fod aRomasy Yoy (2n)
ST B

219. The stalk of Datura flower at its base is known
as
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TR T ol B S BT ISP YR | AT AT &

a) Pedicel /af3da

b) Corolla /&R

c) Sepals /sTgIeeT

d) Thalamus /dew
Pedicel is a green stalk on which a flower is borne
in an inflorescence. It holds individual flowers in
place.
UEFA T & T 7T o & foOT R YA o U Gl TaT
BT 8| Tg STTE-SHTE 3TeTT- 37T Fed RadT &

Anther
Slomcn<|:
Filament

Petal

Ovule
Sepal

Receptacle

Pedicel

220. In which of the following processes is oxygen
released into the air?
frafafaa & & fooa ufthar # sifefis gar # B1$t St 82

a) Photosynthesis /UeTeT HHTUT

b) Respiration /43T

c) Transpiration /&g

d) Excretion /3cgoia
Photosynthesis is the process in which autotrophs
such as green plants use carbon dioxide and water
in presence of sunlight to synthesize nutrients such
carbohydrates in the form of glucose and release
oxygen.
Hence oxygen is returned to the atmosphere by
photosynthesis.
BT AT g8 Ufthar & o wo S v e gd &
USH1LT 6T IURAT & P STSSMTIATSS 3R T HT IGTT
THIS & ¥ H UINE dcdl ol SIETgrese o Iatd e
3R SiaiTe BIsA & fotw &= 2l
TIIT UHIT AW gRT G argHsd ¥ arad 31T
STt &

221. Sweet potato is an underground structure
which stores food Where is the food prepared in
this plant?

Stigma

Style

QTRehe T YT TREAT & ST WISH &7 WSRO el & 39
WS & YIS ST §7aT SATaT 87

Leaves/gfeat

Fruit /e

¢) Stem /ddT

) Root /S8

Potato
(Stem)

Sweet Potato
(Root)

222. Photosynthesis in plants converts light energy

to _______ energy.
Tl  TrepTeT WY USTT ST BT ____ Foi d
ufkafda axar 21

a) thermal /ade&

b) chemical Rramaf®

c) kinetic /mfasT

d) physical/vifas
Photosynthesis in plants converts light energy to
chemical energy.
Photosynthesis is the process by which green
plants produce carbohydrates by absorbing carbon
dioxide, water, and sunlight in the presence of
chloroplast and liberate chemical energy.
Ttert o THTT YT UHTRT FoAl B IATIAS Hol
gfvafea &t 2
TSI HAVUT a8 UfhaT ¢ oAb gRT &% UlY FRIRe 6t
IufRfY # FH1d STearaaTss, urr 3R g & gater
TMAT TP PIEIEIESC BT IATET IR & IR IS
Folt qob R &
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H,0 Chloroplast co,

Light

Sucrose

Dark Reactions

Light Reactions (Calvin Cycle)

223. Chlorophyll in a leaf is required for:
TS Uit # FERIe Sl STTaeaddT il 2:
a) Trapping light energy /9eTeT St BT A o
b) Emitting green light /&% &t &T IToie
c) Storing starch in leaves /gfaal & < &1
YSRUT
d) Attracting water /It & BT HAT
Chlorophyll's job in a plant is to absorb light—
usually sunlight.
T DY F FARIBeT BT HTH ThIT B ANy Har 2 -
SHAR R Rl &I AL

CHLOROPHYLL IS NECESSARY
FOR PHOTOSYNTHESIS

Green patch (Chlorophyll
present)

Pale yellow patch (Lacks
chlorophyil)

Non chlorophyllous
patches remain brown
with iodine solution

Chlorophyllous patches
turn blue black with
iodine solution

224. Which of the following is NOT present in
chlorophyll?
fFofafed § @ 319 Ritha § Hige 7&1 872
a) Magnesium /&g
) Nitrogen /AT8gIe
) Potassium /areferam
) Carbon /@&

Q N O

225. Which part of the plant takes in carbon dioxide
from the air for photosynthesis?

Amino acids
v Fatty acids

THTT HHOT & foTw G T I AT 9T 841 O Hrad
STEHTERATSS IelT 87

a) Root hair /31g T

b) Stomata /&@HeT

c) Leaf veins /u<ht &t 73

d) Petals /9gf3at
Stomata are holes made from spaces between
special cells. These holes are where plants absorb
carbon dioxide from the air.
Once inside the leaf, the carbon dioxide can enter
plant cells. Inside the plant cells are special cell
parts called chloroplasts, where photosynthesis
takes place.
Iy Ay FifAPTe F T s W I T B @a &1 ¥ 8
E STeT U a7 @ FTe STESHTRITES BT Srafid aa
T IR TRl & 3R, FIe STeawTss gral HF HiAwrait
o 3T IR THAT 81 UTET SIABTSN F 3R FARTARE
AT A HIABT W BN &, STET YebTT HAWT BT B

226. The by-product of photosynthesis is
THTRT HAYUT T IUIATE &

a) CO2

b) 02

c) energy /3dIf

d) sugar /&T
In photosynthesis, solar energy is harvested as
chemical energy in a process that converts water
and carbon dioxide to glucose. Oxygen is released
as a byproduct.
T HAWOT H, TR Fo11 BT TP UihaT H I10E St &
0 H U T ST € S U SR FT STSSiaTSS $Y
To[ohIoT # URafdd axdl 1 fiadio Us 3UTaare & 9 &
ot g1

227. Rate of photochemical reactions depend upon

UHTeT IaTafS afufeursi Fr @ Mk st @

o

a) pH

b) Pressure /ga1@

c) amount of reactance /ufafgsar &t AT
)

intensity of light /9esTer &Y diegdr
228. The amount of sun energy trapped by plants

is:

Weft gRT YUSRUT &Y TR I Foi Y ATAT &:
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) 1%-3%
b) 12%-15%
17%-20%
23%-26%

229. 1. In which colour of light, photosynthesis is
maximum?
TSHTLT & 5T T H UPTer-HAWOT ST Aham g 272

a) Red /ot

b) Blue /e

c) Violet /Y

d) Same in all /o & 9@
The rate of photosynthesis is maximum in red light.
This was proved by the Emerson enhancement
effect that states that there is an increase in the
rate of photosynthesis when the chloroplast is
exposed to a light of wavelength 680 nm and 700
nm.
AT TSBTRT B THTeT HAVT 6T &R SHfAFaw el 21 78
2 1 gorer Twor H R A gfg Y | 99 FRIwRe 73T
2o 680 TAUH 3R 700 THUH & U & TUSH § 377 B

230. In which plant does photosynthesis occurs in
the stem?
T H TpTeT AT 5w Ui 7 gar 87
a) Desert Oak /3¢ 3N®
) Orchid/anfds
) Cactus /daed
) Cinchona /g

Q N O

In the Cactus plant does photosynthesis occurs in
the stem.

g S Y T a7 T uTer IRAW0r gar 2

231. Indole-3-acetic acid is the most common
naturally occurring plant hormone of

class

T A UTIT ST ATeAT UTeg BTH &
a) Gibberellin /Asfa

) Auxin /3TifqaT

) Ethylene /Eofiei

) Cytokinin /argeifdsaa

Q N O

This term is derived from the Greek word “auxein,”
which means “to increase” or “to grow.” Indole-3-
acetic acid (IAA) is the most common plant
hormone of the auxin class and it regulates various
aspects of plant growth and development.

T oTeg W 2reg "arffaam” & fovar ma 2, forwar arof &
"G AT "FGAT" | $81c1-3-URAfeD TS (IAA) Jrifera att
FT TEY T Gyt TH & 3R 7g diel H gfg ok faer
¥ R vgeeit @ R o 2|

232. This hormone is not a growth inhibitor
Tg ETHIA gfg 3Ry T&T &

a) Dormin /sifd=

b) Abscisic acid /3fsfa® vfds

c) Ethylene /fieia

d) 1AA /3méug
Abscisic acid is not a growth promoter.

vfoafie Tiiis Oty wHieR 8T 8l

233. Transport of auxin is
rfaa &7 uRaeT &

a) non-polar /MR-gdta

b) symplast /RweRe

c) apoplast /TuItERe

d) polar /gdiT
Polar auxin transport is the regulated transport of
the plant hormone auxin in plants.
It is an active process, the hormone is transported
in cell-to-cell manner and one of the main features
of the transport is its asymmetry and directionality
(polarity).
ydt 3rifaas gftaes dtelt & urey g STifaa &t
fafrafaa afwaes 21
Tg U Afehd UfhaT 8, BT &1 Ael-g-Tel adid A of ST
ST & 3R IRae & qrew fAdware # & vs sadht

fawwar 3R feemarssar (yaaan) g1
234, __________ is a gaseous plant hormone.
__________ Te e urey gTHi 2

a) IBA /3mEdT

b) Ethylene /gfieiia

c) Abscisic acid /ufemRie TR

d) NAA /Taqu
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Ethylene is a gaseous plant hormone also known as

the ripening hormone. It is synthesized in ripening
fruits, flowers, leaves, and even roots.

A ven TefTa urey gl & SR e arefm gTdi ot
FET AT 8| T§ TP aTet B!, Tedl, Tfadt 3R Tgt a®
35 TSt  oft FAfa grar 21

a) Indole acetic acid /g5 TfAfes TRiE

b) Indole butyric acid /g8t gfeRe wfds

c) Naphthalene acetic acid /Awe= TRafes

s

d) None /& oft 7&¥
Artificially synthesized auxins, which have the
properties like auxins are called as synthetic
auxins. eg. 2,4-D (2, 4-Dichlorophenoxy Acetic acid,
Indole-3-Propionic Acid, alpha- Naphthalene Acetic
Acid (NAA), 2,4,5-T (2,4,5-Trichlorophenoxy Acetic
acid) are some of the synthetic auxins.
HAT F0 A AR srifm, o siff= A en &
AP TR PEera &1 IaTeRor & forw 2,4-37 (2, 4-
STEFARIb I URAfes Ufds, $eier-3-mfifs s,
3BT~ THT I TRafed T (Taww), 2,4,5-¢F (2,4,5-
TR Ufafed Uiis) o5 81 Ridfes srifeas
Eal

236. Flowering in long day plants is related to
which of the following?
3 faaeity atul # gue FafaRed & & e defaa 22
a) Auxin /3rfqaT
b) Gibberlin /SafaT
c) Cytokinin /argeifsAa
d) Ethylene /Eficfia
Gibberellins are the plant hormones, which induce
flowering in long-day plants.
AR arey gwia €, St od Twy e det & ot 3
&1 O & ¢

237. Which plant hormone is used in the injured
cell, which fills the wounds of the plant?
T SIAST H SH-HT UTey g1HT TN giaT 8, S aig
& TTa} B WRAT 872

a) auxins /37ifaaT

b) Ethylene /§eftei=

c) florigens /w1

d) Traumatin /Zi@feT
The scientists found that the hormone Auxin, which
is essential in plant growth and development, also
plays a vital role in wound healing. It builds up in
those cells directly touching the wound and
facilitates the plant's response to injury.
APt 3 U 5 SR g, S O Y gf ok
e & fav smags 2, ud wa & o meayul yfier
T 81 T8 37 HIfAPTST H ST & ST 1 61T BT g
3R e & faw dte &t ufafhar 1 garse sardt 8

238. Who named the plant hormone cytokinin?
UTeY gTHI AT 1 A1H fbem war?

a) Miller /AR

b) Lytham/faaw

c) Berg /et

d) None of these /&7 @ g &l
Cytokinins were discovered by F Skoog, C Miller,
and co-workers during the 1950s as factors that
promote cell division (cytokinesis).
HIFAST fAUTo (AT BAIT) FY §¢1aT & T FRSDT B
¥ 7 1950 & GP & IR TH T, H fAer 3k
TEHUAT GRT ATSCITDB - P Tt HT TS |

239. Which plant hormone is helpful in making RNA
and protein?
S AT UTed ETH RNA T1 TiéH a9 # Herad g 272

a) Gibberellins/fAsRfaT

b)  Auxin /3T

c) Cytokinins /aTscIerea

d) Ethylene /£ficfi
Cytokinins: It naturally works in coordination with
auxins. It is helpful in making RNA and Protein.
HTgAIfBA=T: T8 TwTides ¥U F HfeaT & Ay Fr-ag
& T 81 T8 RNA 3R Tié o & Herads gim 21

240.. Name the plant hormone which increases the
activity of cambium in the wooden plants?
3T UTeY 1A T 910 Id13T ST dIhs! & el 7 Siraay
&1 fopamefietar F sgrar 87

a) Gibberellins/fAsRfaT

b) Cytokinins/TTgcieEa
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c) Auxins /3fifaa=T

d) Ethylene /£ficfi
Cambium activity has been tightly associated with
the plant hormone auxin for a long time, but at the
level of gene regulation (the «reading» of the
genetic information), the process was studied with
such a high accuracy for the first time.
Fftgoy nfafafd @9 T J wic gwiv siiffeds & Y
FHIR I g% ¢, Afh o faffmm & TR w (sngafds
SHSRY & "UgAT"), T UfhdT &7 Ugel! IR -t 3=
FEIGHT & ATy TemT foar T o)

241. Which plant hormone is responsible for saving
the crops from falling?

B! Y TR T 99 & fAT o9 97 urey graia Iwerd

27
a) Cytokinin/ Argeifdfa
b) Gybberellin /fAr¥faT
c) Auxin /3@

d) Ethylene /£ficfi
Auxins are also important in regulating the fall of
leaves and fruits.
TR ufoat 3k Bl & iR &Y g s & oft
TEaquf &

242. Name the stress hormone of the plant.
T & TG ETHIA BT AT SeA15Tl

a) Brassinosteroid/sTRAMIRIES

b) Abscisic acid /ufemaf® Tas

c) Cytokines /TTgeidE~

d) Ethylene /£ficfi
The Stress Hormone Abscisic Acid Improves Plant
Tolerance to Heat Stress. Abscisic acid (ABA) is a
phytohormone crucial for plant growth and
regulates plant stress responses
¥ AT Ufeaflie TS €l wd & fav wiie efeita &
JUR FRaT 2| Ufenfds vis (Telv) U wigeie i & i
T & faera & faw Agwaquf @ 3k dd & dama
gfaferaraeit & Al a=ar &

243. The plant hormone that induces cell division

is-

e ETHI St HHAST FAUTSH IR T 7 98 2-
a) Auxins /3fifda=T

b) Gibberellins /fA&fa

c) Cytokinin /aTgeifdaT

d) Domains /&9
Auxin promotes cell division and meristem
maintenance and also plays an important role in the
establishment of cellular patterning.
e ST faure ik fvsuids srRerT & ggrar
aT & 3R HIfAHT ufawgor & wmar 7 ft Agayof
Yyt Ry 21

244. Phomopsis blight occurs in which of the

following crops?

wHTy goar Rufafad 7 3 fog woa # gar 82
a) Brinjal /&

b) Bajra /aTeR
c) Sugarcane /TTET
d) Potato /31T

245.. What causes Loose smut of wheat?
g & el TC T T HROUTE?

a) Ustilago kolleri /3R Hleidt
) Ustilago hordei /3Raam g
) Ustilago tritici /3Ream fefedt
) Ustilago avenae /3Rd@mT wa=

O

(@)

d
gganls Pathogen Plant Disease
Fungi Ustilago tritici |Loose smut of wheat
Fungi  |Ustilago hordei [COVered smutof
barley
Fungi Ustilago kolleri [[Covered smut of oat
Fungi Ustilago Loose smut of oat
avenae

246. Red rot of sugar cane is caused by:
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T BT ATl TS [T HROT g &
a) Phytophthora infestans /GTgeITIRT
T

b) Altemarla altemata /3TeCHRAT TecHTET
c) Colletotrichum falcatum /&raierfcas
BleheH

d) Cercospora personata /q&RORT GHHTET
Sugarcane is a commercially important crop,
vulnerable to fungal disease red rot caused by
Colletotrichum falcatum Went. The pathogen
attacks sucrose accumulating parenchyma cells of
cane stalk leading to severe losses in cane yield
and sugar recovery.
T Vs SATaaTe $0 & Hea@qul B g, St draciead
ledheH d & HRUT I dTel WITel 7T Ted HSH Y Tde #
21 TSI T F So B RePTSHT FHABTSH PY ST FRA
Tt GehIol W EHAT IRT & Forad T &t IuST 3R == Y

g # TR JHaT graT B

247. Which of these is a bacterial disease that
affects the plants?
TTH ¥ SI9-T7 ATy T & Y Wt FF urfad T 82
a) Crown Gall /&139 T
b) Mosaic /divie
c¢) Smut/&e
d) Blister /&t
Crown gall is a disease caused by soil-inhabiting
bacterium, Agrobacterium tumefaciens.
H13 ot gt & 38 aret Sfiay], widacfam grihi=T
& PRUT B aTel! START B

Bacterial speck Blackleg

Crown gall

Bacterial wilt

Plant root

Pseudomonas Agrobacterium Erwinia

Type IV e,
/ secretion < = el 0 Xylem
i /" system p ~ype
secretion system SYs! W secretion
system
(5 ¢ )
| 1 |
Plant cell Plant cell — 1 S—
IType Il effector Plant chromosome T
proteins
O Ti plasmid
5 . Plant cell 00
= tDNAthatis (" =) Plant cell with 0
integrated into the | | cellwall degraded aiE T
plant chromosome — _J bybacterial enzymes xopolysacchari

O water
(A Cell wall-degrading

() R solanacearum
enzymes

248. Which of the following is NOT a seed-borne
disease?
fofafaa & @ s9-a1 dia s A & 82

a) Red rot of sugarcane /7= &T Tl TS

b) Sheath rot on rice /ITdd W W TSieT
Potato mosaic /31Te] Hiaid
Moulting of wheat /ﬁéﬁrm

249. Tikka disease is related to which of the
following crops?
g A7 fufafea 7 & g woa I gdfaa 22
a) Sugarcane /TTET
b) Rice /aT@e
¢) Grain /3HTST
)

d) peanut /HiThett
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Diagram showing tikka
disease of ground nut

pEarly infection: Brown
spot with yellow halo
appears on the leaf

Late infection:
/I;ack spot appears
on the leaf

| Late leaf spot
infection in stem

) Late leaf spot
infection in seeds an
shells of groundnut

250. The disease related with apple is known as:
A9 F FAT T S T H ST AT 2

a) red rust disease /&l ST 3T

b) tikka disease /feadmT AT

c) green ear disease /& S &I SHIY
) fire blight /37 &%

251. Which of the following crops is related to
Karnal bunt disease?

Rufafad & @ o T Bud SET §e 7 8 Fefda &2

a) Millet /eToRT
) Pea/mxR

) Wheat /7§

) Rice /<mdet

Q N O

252. Tea's red rust disease is caused by which of

the following?

g # Y8 W I Fufafad # @ frad sror @ar 82
a) Bacteria /Sffary]

) Virus /farsd

) Algae /faret

) Moss /@1

Q N O

Red rust is an important disease of the tea plant in
which orange-brown, velvety spots develop on the
leaves of infected plants.

The alga is parasitic on a few significant economic
plants of tropical and subtropical types such as
tea, coffee, mango, and guava.

T 3G I S GIY HT Ue Tgeaqul T & fowd dwfira
gret b uferdl W aRf-y, TEnd gs OS89 8
INWGBREHT UHFR & F& Heayul e dtef w darer
WRofid B

253. Which root modification does not store food?
BT T T TN WIS BT WSRO TEl e 82

a) Stilt /Reee

b) Conical /iFaTHR

¢) Napiform /AfUwr

d) Tuberous /&
The stilt roots are the adventitious roots that help
in supporting the plant body.
For this purpose, they grow from lower nodes as
they have to fix into the ground to give support
e.g., maize and sugarcane.
The nodes are the place where new growth takes
place.
The tuberous, napiform, and conical roots are the
types of tap root and modified for food storage.
Rece v TTed 73 & St N & IR & TgRT & § Heg
&l &l
3T 32 & faiy, 3 e T @ 9ea & Fifs 3= wudq
3 & fow S # Sie a1 usar @ S, HaT Sik T
5w 98 T € STt 7% gfg €t 8l
Ha, ANEH 3R PR T T 6 18 & TR & 3R
T WSROT & forg Feifaa &1
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254. Green ear, a fungal disease is associated with
which of the following crops?

W &M, T Hae A Rufaad d & fag woa 3 g&fad
22

) wheat /g
) Rice /amdet
) Grain /31T
d) Millet /aToRT

n T o

255. The disease Blast is related to which among
the following crops?
e I Fmfafed # & i waa 3 wEfaa 22

a) Rice /amae

b) Wheat /7§

c) Sugarcane /TTdT

d) Chickpea /STgett =T
Rice blast disease, caused by Magnaporthe oryzae
(Ascomycota), occurs in about 80 countries on all
continents where rice is grown, in both paddy
fields and upland cultivation.
FUTre MRS (TP HTSHIET) & HRUT B TTAT I5H STRE
T, T & Wt SR ST Y B At ST H, Tt werdidt
& oITHIT 80 Q21T H BYAT €, S8t WTdel ST SATelT 2|

256.. Brown rust is disease of which crop
WRT I3 5T GOt T MT R

a) Wheat /7§

b) Sugarcane /=T

c) Potato /3]

d) Turnip /eTedeH
Leaf rust, also known as brown rust, is caused by
the fungus Puccinia triticina. This rust disease
occurs wherever wheat, barley and other cereal
crops are grown.
oo W, o 913 e & w9 H oft a7 ST 8, Fas
g fefefmr & wrur gar €1 78 3qam A Siet iy A,
Sit 3R 3= SIS $Y ThHe IS STl &, T8l &l 2|

257. Which among the following crops is affected
by Fall Armyworm?
fafafed & & S it B Bid smHiad F gwrfad gt
&7
Cotton /&u™
Corn /ygr1

c) Cherries /A%

d) Rice /amae
The fall armyworm (Spodoptera frugiperda) is a
lepidopteran pest that feeds in large numbers on
leaves and stems of more than 80 plant species,
causing major damage to maize, rice, sorghum,
sugarcane but also other vegetable crops and
cotton.
it amTate (TR HwReT) T e $ie ¥
St S8t vt 7 et $F 8o T f¥e gerfadl Ht ufaat ek
T R IS AT 8, oI 7T, I1ad, SOR, b i
3T Teof! el 3R HURT B Y 937 JHa &l 2

258. Transfer of pollen grains from the anther to
the stigma of another flower of the same plant is
called
RATHUT BT RATHIT ¥ I G & TR T $ afddr™r W
RYTATROT HEATT &

a) Autogamy /3fferiHY

b) Geitonogamy/Tarriet

c) Xenogamy /aHATTHY

d) None of the above /g8 4 &I Y Tl
Geitonogamy refers to the pollination from anther
to the stigma of another flower of the same plant.
AR wATEreT ¥ 3 0 & R Td & afder™ a6
TRTTUT &Y HEfHeT el &

Q259. Which of the following flowers is unisexual?
fFofafad & @S9 a1 B Tafel 872
a) Papaya /gdtar
) Sunflower /TRTgRdT
) Hibiscus /féfema
) Mustard /39T

Q N O
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Papaya has unisexual flowers, male flowers, and
female flowers are on separate plants.

gt & USfelifll Gt 81 &, TR ot 3R ATeT T STeT-
a1 et w @ &l

260. Which among the following type of plant do

not have naked embryo?

Rofafed & @ 5o uer & 9§ 90 yor 78 gar 27
a) Angiosperm /ufSrarad

) Pteridophyta /e¢REdrser

) Bryophyta /sTaI®rger

) Thallophyta /&wrger

Q N O

261. Food storing plant part in onion is:
TSt # Ty WSRUT T AT 2
a) Root /S8
) Flower /%ot
) Leaves /afaaf
d) Fruit /%

O

@)

SCALES(LEAF
BASES)

BUD

BASAL PLATE

262. The plant which traps and feeds on insects is:

gg uter Y HISh & harar § SR Raemar @ 9g &:
a) Cuscuta /&H¥per
b) Chinarose /= A5
c) Pitcher plant /fo=R wfe

)
d) Rose /e
o rr

263. Epidermal cells of plant roots increase their
absorption surface by having
Tyt &Y TSt B viisic SIABT o= Saiyr Tag oF
a1 &l €

a) Scales/%hed

b) Root hairs /T8 9Tt

c) Endodermis /GSsfia

d) Stomata /&Her
Root hairs are the extensions of the epidermal cells
of the plants. These increase the surface area of
the roots and help in better absorption of water
and nutrients.
TS & 1T Ul Y Ufisde efdere & e &1 3 SiEt
& TE &7 BT 9¢Td 8 3R U 3R UIve ddl & S8R
JFLNTOT H 7EE R B

264. Quinine, the commonly used drug for malaria,
is obtained from a plant. What part of the plant
yield the drug?
TARGT & fAT AR W STAHTA B ST 1T E@aT Fad
TS G I T Y AT 8 9 & e v & sitwfe
et 82

a) Fruits /®eT

b) Bark /03 & BT A

c) Leaves /ufeaf

d) Root /STg
Quinine, drug obtained from cinchona bark that is
used chiefly in the treatment of malaria, an
infection caused by the protozoan parasite
Plasmodium, which is transmitted to humans by
the bite of various species of mosquitoes.
T, ST B BTet J U gaT foaeT ey ¥7 F
TARTT & ITIR § ITTNT T SITeT B, MEram wafid
TARHITSEH & SRUT N AT U THHUT &, S Hea] P
e Soraret & Pre & Tt & therar 21

265. The botanical name of sunflower is:
PTG} HT IS AT &

a) Dahlia /ssfear
) Helianthus annus /gfaaTay T
) Tagetes erecta /27 gxaer
) Zinnia /fSfaar

Q N O
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266. Which one of the following elements is

present in the green pigment of leaves?

ufoat & & wrgen # Rufafad & @ o a1 9 wige 872
a) Magnesium /AifTd

) lron /ofY&T

) Calcium /HfRmag

) Copper /dfar

o N o

267 Which of the following is essential for fruit
ripening ?
fFofafed § 9 39 o uea & foaw smaws €2

a) Auxin /3rfqaT

b) Cytokinin /aTgeifBAT

c) Ethylene /£fieia

d) Abscisic acid / Abscisic acid /uferafas TRie
268. The directional growth movement in plants
due to touch is called
e & wror Get # feemare gfe 6 mfa ST &

a) thigmonasty /fAmAAET

b) geotropism /TF@TadT

c) phototropism /T

d) chemotropism /SHIGITOSH

The movement of plant due to touch is known as a
thigmotropic movement. Thigmotropism is a
directional growth movement which occurs as a
mechanosensory response to a touch stimulus. For
example, once a shoot touches a suitable support,
it grows towards the surface it is touching.

Tt & HRUT U B T FAEUe e & T H S
StTar §1 Farmefen ve fRermdes faenT siday & 5 we
T2t AT & T v wifas ufafesar & w0 & gar 21
ITERVT & T, Teh TR STd Teh e Teb IUGeh HHLAA
BT ¢, dl 98 39 Adg B 3R ggdT ¢ f98 98 B ET 8l

269. Which part protects an unopened flower?
B TT U U G T I 67T Rl 872

a) Sepal /Aqa

b) Stamen /gHW

c) Petal /oRggt

d) Anther /3R
Sepals protect an unopened flower
Sepals are green, leaf-like structures that protect
the flower in the bud stage.
Sepals are collectively called the calyx.
Sepals most resemble leaves due to their green
color.
AU T Gl ol T 38T R &
JUT &, TRt ST AT 8 S et 7T H et B
& et B
ITEIEHT B ATRS ¥ J e Pl AT 2
AURT SUTSTR T & 7 & HROT yfdt F era Jeta 2

270. The pistil in the flower is
GoT o TPT &

a) amale reproductive part /T& QY Uold 3T

b) unisexual /Usfetia

c) afemale reproductive part /U HfgeT U

3T

d) bisexual /Ivafar
Pistil is the female reproductive part of a flower
with a stigma at its top. Pistil is the ovule
producing part of a flower.
The function of a pistil is to receive pollen and
produce seeds. The ovary often supports a long
style, topped by a stigma.
TR T Tl BT AT Uoi=+ 317 ¢ foads o w ve
affmr €T &1 TSR T od BT SISiis ITeh W B
TSI BT ST R YT FRAT 3R ot Ieaw a1 Bl
SISTT 3R U et At T THT v B, fowd Fw
TS Hcidh 8l o

271. The character is recessive in garden pea plants.

T & Hex & gl # T 3radf &
a) yellow seed /diaT dia

b) green pod /&% Wl
c) wrinkled seed /g¥eR &t
d) round seed /T ST
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The wrinkled seed character is recessive in garden
pea plants. Gregor John Mendel, known as 'father
of genetics', chose garden pea (Pisum sativum) for
his experiments.

T & TR & ulyl & gifer €51 F1 wteror smadf gt 2
IR AT Teet, fO2 'sngafAdht & far & ¥g & JH7 Srar
2, ¥ 1o vt & fore Sam weR (Rrgw Aftaw) 1 )

Character Dominanttrait Recessive trait
Seed Round Wrinkled
Yellow Green
Full Constricted
Pods
Green Yellow
Violet White
Flowers Axial Terminal
Stem Tall Dwarf

272. The seeds of which of the following plants are
not dispersed by wind?
fFofafed § 9 fou dtd & i ga1 @ 78 tea 82
a) Calotropis /&arcifod
b) Cotton /U™
c) Coconut /ATRTe
d) Drumstick /gaRed
So, Coconut seeds are not dispersed by wind.

gfay, TRTe & et gar & T8 thera &

273 The example of pinnately compound leaf is
foAeett ffsa ot F1 3aTeror 8
a) Neem /1\
) Silk cotton /Remft HU™T
) Both1&2
) None of the above /78 @ &g t 7&Y

Neem has a pinnately compound leaves. In it, the

Q N O

buds are present in the axil. Each leaf is made up of
more than one leaflets. The veins or leaflets extend

in opposite direction from the midrib.

i & foered fafsa ofvat gt 81 59 Feerel § Sfomr
e 8 €1 S T U A OIS Toieh A ST 8T &
IRTE o7 uzres ey fRT & faudia faem & e €1

274. Roots that develop from plant parts other than

the radicle are

o1 & NATaT U & 3 Wit A Ao g aredt ois &
a) Epicaulous /ufU&t@
b) Fibrous AR

c) Adventitious /vsdfefeaa

d) Epiphyllous /ufafthers
Roots that develop from any part other than
radicals in the plant are called adventitious roots.
Adventitious roots are commonly found in
monocots and pteridophytes, and also among some
dicots.
3T S Ot & gl & 3ramar ) s vt A fasfaa
AR R AADIe 3R eREFreey & org oY 8, ok
T STGICT T |

275 Pneumatophores occur in plants of
RS & et & Tre o #

a) Saline marshy soil/caufta aece fAgt

b) Saline soil /et fagt

c) Water /art

d) Sandy soil /dtet fagt
Mangroves grow in salt marshy soil and thus
produce pneumatophore, a type of root that grows
negatively geotropic for taking in oxygen from the
air.
They are pencil-like roots that stick up out of the
dense, wet ground like snorkels.
Hoiia TS Terac Mg # 37 € ok 3 UeR JHeeR
I XA €, TP YbR bl 578 i 8T H ST o b
T TeRTS T 8 fOEeUs et 21
3 U St 513 € Y Fidbed bl aXg e, Tt ST &
[EREZEICIN
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